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Section Marks : 100

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 53622837
Question Shuffling Allowed : Yes

Question Id : 536228925 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :
No

Question Numbers : (1 to 5)
Question Label : Comprehension

Consider the following table that shows the number of girls enrolled 1n three different
Universities A. B and C over the vears 2015 to 2019. Based on the data in the table. answer
the questions 1- 5:

Year-wise Number of Girls in Different Universities

Number of girls in a University

Year
A B C

2015 | 15.000 10,000 5,000

2016 | 10.000 17.500 20,000

2017 | 22,500 12,000 15,000

2018 | 20.000 25,000 15,000

2019 | 25,000 20.000 22,500

Sub questions

Question Number : 1 Question Id : 536228926 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



What 1s the ratio between the total number of girls enrolled in Umiversity C in the year 2018
and the total number of girls enrolled in University A and University B together in the same
vear?

(1) 4:3 (2) 3:4
(3) 2:3 4 1:3
Options :

5362283601. 1
5362283602. 2
5362283603. 3
5362283604. 4

Question Number : 2 Question Id : 536228927 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The difference between the number of girls enrolled in the year 2019 and 2015 1s minimum

for

(1) University A only (2) University B only

(3) Both University A and University B (4) Both University A and Unmiversity C

Options :

5362283605. 1
5362283606. 2
5362283607. 3
5362283608. 4

Question Number : 3 Question Id : 536228928 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



What 1z the average number of girls enrolled in the vear 2017 in all the three Universities

together?
(1) 20.000 (2) 16.500
(3) 10,000 (4) 18.500
Options :

5362283609. 1
5362283610. 2
5362283611.3
5362283612. 4

Question Number : 4 Question Id : 536228929 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
Total number of girls enrolled in all the three Universities together in the vear 2015 1s what

percentage (%) of the total number of girls enrolled in University C in the year 20187

(1) 200% (2) 225%
(3) 165% (4) 45.4%
Options :

5362283613. 1
5362283614. 2
5362283615. 3
5362283616. 4

Question Number : 5 Question Id : 536228930 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



The total number of girls enrolled 1n all the three Universities together i1s second highest for
the vear

(1) 2019 (2) 2018
(3) 2017 (4) 2016
Options :

5362283617. 1
5362283618. 2
5362283619. 3
5362283620. 4

Question Id : 536228925 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :
No

Question Numbers : (1 to 5)
Question Label : Comprehension
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Number of girls in a University

Year
A B C

2015 | 15.000 10.000 5.000

2016 | 10.000 17,500 20,000

2017 | 22,500 12,000 15,000

2018 | 20.000 25.000 15,000

2019 | 25.000 20,000 22,500




Sub questions

Question Number : 1 Question Id : 536228926 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

o9 2018 ¥ favatamme™ C # Ffaen o4 aTell STierpsl =i %ol @EE a9 361 99 {GvataeeE A 3R

favafaamea B 5 afaen =+ arett afersradt i Affeid Fel S 1 S99 391 7 ¢
(1) 4:3 (2) 3:4

(3) 2::3 (&) 1:3
Options :

5362283601. 1
5362283602. 2
5362283603. 3
5362283604. 4

Question Number : 2 Question Id : 536228927 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

a9 2019 3T T4 2015 H SMGeT o ATl eIl i HEa § A Hefeiiad § ° F
fore e 2 |

(1)  ae favataaeEm A (2) o= Tavata=ea B

(3) TEvata=nem A @ r EvatEEmes B 2 (4) Tavat=TEE A 3R fHSvatem C 2m

Options :

5362283605. 1
5362283606. 2
5362283607. 3
5362283608. 4

Question Number : 3 Question Id : 536228928 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0

a9 2017 | A1 Tavata=er § FiEen Sarel aerhiAl i SAHd W = o

(1) 20,000 (2) 16,500
(3) 10.000 (4) 18.500
Options :

5362283609. 1
5362283610. 2
5362283611.3
5362283612. 4

Question Number : 4 Question Id : 536228929 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

a9 2015 H A FvatmeE 4 afger SHaEe aiess fi wfEea Fe dem =9 2018 H@

Tavafaamem C o eifgen sHare anferwiaAt i Het gean F1 e gfaem 27

(1) 200% (2) 225%
(3) 165% (4) 45.4%
Options :

5362283613. 1
5362283614.2
5362283615.3
5362283616. 4

Question Number : 5 Question Id : 536228930 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



vt d1 favafaemt 8 Fa foar frd o 1 gifgen sare aifasen f ger o "

(1) 2019 (2) 2018
(3) 2017 (4y 2016
Options :

5362283617. 1
5362283618. 2
5362283619. 3
5362283620. 4

Sub-Section Number : 2
Sub-Section Id : 53622838
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 536228931 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

From the following. identify those characteristics which go within the categorv “helping
behaviour’ for becoming an effective teacher :

(A)  Structuring

(B) Student success rate

(C) Using student 1deas

(D)  Probing

(E) Instructional variety

Choose the correct answer from the options given below :

(1) (A). (B) and (C) only (2) (B).(C) and (D) only
(3) (C). (D) and (E) only (4) (A). (C)and (D) only
Options :



5362283621. 1
5362283622.2
5362283623. 3
5362283624. 4

Question Number : 6 Question Id : 536228931 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362283621. 1
5362283622.2
5362283623. 3
5362283624. 4

Question Number : 7 Question Id : 536228932 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



What are the activities of teaching associated with its interactive stage?

(A) Planning of lesson
(B) Determining learning outcomes

(C) Prezenting the content interspersed with questions
(D) Providing feedback and probing. if need be

(E) Motivating and monitoring students tasks

Choose the correct answer from the options given below :

(1)  (A). (B) and (C) only (2) (B).(C) and (D) only
(3) (A). (C) and (D) only (4) (C). (D) and (E) only
Options :

5362283625. 1
5362283626. 2
5362283627. 3
5362283628. 4

Question Number : 7 Question Id : 536228932 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362283625. 1
5362283626. 2
5362283627. 3
5362283628. 4

Question Number : 8 Question Id : 536228933 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

In Gagne's hierarchy of learning which type of learning immediately precedes ‘Rule

learming™?

(1) Problem solving learning (2) Concept learning
(3) Diserimination learning (4) Chain learning
Options :

5362283629. 1



5362283630. 2
5362283631. 3
5362283632. 4

Question Number : 8 Question Id : 536228933 Question Type : MCQ Option Shuffling
Correct Marks : 2 Wrong Marks : 0

.
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(1) === Toree sty (2) TOIF AT
(3) a5z st (4) wEer At
Options :

5362283629. 1
5362283630. 2
5362283631.3
5362283632. 4

Question Number : 9 Question Id : 536228934 Question Type : MCQ Option Shuffling
Correct Marks : 2 Wrong Marks : 0

: No Is Question Mandatory : No

: No Is Question Mandatory : No

In which of the scales of measurement, the properties of classification and order. both are

present?
(D Nominal (2) Ordinal
(3) Interval (4) Ratio
Options :

5362283633. 1
5362283634.2
5362283635. 3
5362283636. 4

Question Number : 9 Question Id : 536228934 Question Type : MCQ Option Shuffling

: No Is Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0

g ATt o i 9o 9 2T T SufeE B R

(1)  =E= (2) FHF
(3) = (4) I
Options :

5362283633. 1
5362283634.2
5362283635.3
5362283636. 4

Question Number : 10 Question Id : 536228935 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I: The purpose of ICT interventions 1n classroom teaching 1s to promote and
optimise learning outcomes.

Statement IT: Most of the on-line methods like Swayam and MOOCs etc. have the potential
to become effective supplements to conventional teaching-learning systems.

In the hight of the above statements. choose the correct answer from the options given below:

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement IT are fal=e

(3) Statement I 1s correct but Statement II 1s false
(4) Statement I is incorrect but Statement I 1s true
Options :

5362283637. 1
5362283638. 2
5362283639. 3
5362283640. 4



Question Number : 10 Question Id : 536228935 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362283637. 1
5362283638. 2
5362283639. 3
5362283640. 4

Question Number : 11 Question Id : 536228936 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements : One 1s labelled as Aszertion (A) and the other 1s labelled as

Reason (R) :

Assertion (A):  Research ethics mandates use of appropriate and authentic procedures to

arrive at truth and advancing solutions to problem.

Reason (R) : Credibility of research 1s not only a przed goal but a prerequisite for

excellence in human pursuit.

In the light of the above statements. choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (4)
(3) (A) 1s correct but (R) 1s not correct

(4) (A) 18 not correct but (R) 1s correct
Options :
5362283641. 1
5362283642. 2
5362283643. 3
5362283644. 4

Question Number : 11 Question Id : 536228936 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362283641. 1
5362283642. 2
5362283643.3
5362283644. 4

Question Number : 12 Question Id : 536228937 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match List I with List II. List I gives qualitative research perspectives while List IT provides
the central questions addressed by them.

ListI List IT

(A) Ethnography (I) What common set of symbols and
understandings have emerged to give
meaning to people’s interactions?

(B) Heurstics (IT) What 1s the culture of thiz group of
people?

(C) Phenomenology (IIT) What 1= my experience of this
phenomenon?

(D) Symbolic iInteractionism (IV) What 1s the structure and essence of

experience of this phenomenon for
thosze people?

Choose the correct answer from the options given below :

(1) (AD), (B)-(IV). (C)-IID. (D)-(II)
(2)  (A)-dD. (B)-I). (C)-IV), (D)-(D)
(3) (A)-(I1D). (B)-(ID). (C)-(D), (D)-(IV)
(4) (A)-(IV). (B)-(D). (C)-(II). (D)-(III)

Options :

5362283645. 1

5362283646. 2

5362283647. 3
5362283648. 4

Question Number : 12 Question Id : 536228937 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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(I @D, B)-AV). (C)-d1I), (D)-(1I)
(2) (A)-(II). (B)-(III). (C)-@V). (D)-(I)
(3) (A1, B)-ID. (C)-@), (D)-IV)
(4) (A)-(IV), (B)-(I). (C)-ID. (D)-(III)

Options :

5362283645. 1

5362283646. 2

5362283647. 3
5362283648. 4

Question Number : 13 Question Id : 536228938 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



A college teacher intends to study the problems of latecomers 1n the classroom. Which type of
sampling method will be appropriate in this context?

(1) Stratified sampling (2) Random sampling
(3) Purposive sampling (4) Cluster sampling
Options :

5362283649. 1
5362283650. 2
5362283651. 3
5362283652. 4

Question Number : 13 Question Id : 536228938 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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(1) =g wia==m (2) TEf=a® Aia=a
(3)  wWETSE AidaEA (4) FHE Tia=E
Options :

5362283649. 1
5362283650. 2
5362283651. 3
5362283652. 4

Question Number : 14 Question Id : 536228939 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



What are the activities which take place during the stage of reconnalssance in action
research?

(A) Identifying and classifving general 1dea
(B) Describing the facts of the situation

(C) Explaining the facts of the situation
(D) Constructing a general plan

(E) Developing the next action steps

Choose the correct answer from the options given below :

(1) (B) and (C) only (2) (A) and (B) only
(3) (C) and (D) only (4) (D) and (E) only
Options :

5362283653. 1
5362283654. 2
5362283655. 3
5362283656. 4

Question Number : 14 Question Id : 536228939 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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(1) 3= (B) 3K (C) (2) Fae (A) R (B)

(3)  #== (C) 3 (D) (4) Faa (D) # (B)
Options :

5362283653. 1
5362283654. 2
5362283655.3
5362283656. 4

Question Number : 15 Question Id : 536228940 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



A teacher intends to establish the relationship between educational status of parents and
the scholastic achievement of pupils. Which of the following method of research will be
considered appropriate for this study?

(1) Philosophical method
(2) Historical method
(3) Expost facto method

(4) Experimental method
Options :
5362283657. 1
5362283658. 2
5362283659. 3
5362283660. 4

Question Number : 15 Question Id : 536228940 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :
5362283657. 1
5362283658. 2



5362283659. 3
5362283660. 4

Question Number : 16 Question Id : 536228941 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Whach of the following 1s essential in classroom communication?

(1) Frequent repetition of the message 1n different ways
(2) Avoilding repetition of the message

(3) Interrupting the speaker frequently

(4d) Avolding eve contact with students

Options :

5362283661. 1
5362283662. 2
5362283663. 3
5362283664. 4

Question Number : 16 Question Id : 536228941 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :



5362283661. 1
5362283662. 2
5362283663. 3
5362283664. 4

Question Number : 17 Question Id : 536228942 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Classroom communication involves

(A) Listening by learning

(B) Formal lecturing

(C) Informal discussions

(D) Less importance to feedback

(E) Explaining

Choose the correct answer from the options given below :

(1)  (A). (B). (C) only (2) (B).(C). (D) only
(3  (B). (0. (E) only (4) (C). (D). (E) only
Options :

5362283665. 1
5362283666. 2
5362283667. 3
5362283668. 4



Question Number : 17 Question Id : 536228942 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362283665. 1
5362283666. 2
5362283667. 3
5362283668. 4

F4a4 (B). (C) 311 (D)

Fa (C). (D) AR (E)

Question Number : 18 Question Id : 536228943 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled as

Reason (R) :

Assertion (A) : To be effective 1n the classroom, a teachers should minimise the

communication barriers.

Reason (R) : Since communication 1s a complex process. regular feedback analysis 1s

essential for this purpose.

In the light of the above statements. choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)
(3) (A) 1= correct but (R) 1s not correct

(4) (A) 1s not correct but (R) 1s correct

Options :

5362283669. 1
5362283670. 2
5362283671. 3
5362283672. 4

Question Number : 18 Question Id : 536228943 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



F 71 FoF T2 T E e = v w A (A) 3R 3@ w9 (R) FE1 T E

ATTFH (A) : forer 1w § TR 2R F e Sumy smanett w0 wh e = |
T (R) : <t T U Fheet Wi 7, Fafua afagfe (fesw) e 5@ gl 9 amavas 2 )

Su FYA % AT H AR el J § aita sEed 39 g

(1) (&) #R B) 3 FE # 30 (R), (A) Fi w& = 2 |
(2) (A) 3 (R) ZAT "4l # g (R), (A) il @&l =gme 74 2 |
(3) (A) T#t 2w (R) @41 71 2 |

4 (A TH T 2w R) T 2

Options :

5362283669. 1
5362283670. 2
5362283671. 3
5362283672. 4

Question Number : 19 Question Id : 536228944 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Identify the correct chronological sequence of the developers of communicative systems :

(A) Germans
(B) Romans
(C) Sumerians
(D) Chinese

(E) British

Choose the correct answer from the options given below :

(1) (A (C). (B). (E). (D) (2) (C). (B). D). A), (B)
(3) (B). (C). (E), (D), (A) 4y (D). (E). (C). (A). (B)
Options :

5362283673. 1
5362283674.2
5362283675.3
5362283676. 4

Question Number : 19 Question Id : 536228944 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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(1) (A (C). (B), (E). (D) 2)  (O). (B). D). (A). (B)

(3)  (B).(0).(E) D). A @) (D). (E). (). (A). (B)
Options :

5362283673. 1
5362283674.2
5362283675. 3
5362283676. 4

Question Number : 20 Question Id : 536228945 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match List I with ILast II. Last I gives Modes of Commumnication. while List IT provides their

description

ListI List IT
(Modes of Communication) (Dezcription)
(A) Publicity ()’ Reputation management
(B) Propaganda (ITI) Paid message
(C) Advertising (ITII) Non-commercial promotion
(D) Public relations (IV) Communication with motives

Choose the correct answer from the options given below :

(2)  (A-ID. (B)-(ILD. (C)-(IV). (D)-(D)
(3)  A-IV). (B)-1). (C)-11I). (D)-(II)

(4  (A)-dI). (B)-(IV), (C)-ID). (D)-(I)
Options :
5362283677. 1
5362283678. 2
5362283679. 3
5362283680. 4

Question Number : 20 Question Id : 536228945 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



g=1-I =1 gi-I1 & gafeq Hifao

-1 111
(wFeror fafer) (Fereron)
(A) TER @ e vEeE
(B) ITER D) U #E
(C) fasrm (D) T arorfsas dada
(D) = T7F (@IV) EuEE HO
H=t fo7 T foebent § @ wE = g

1) (A)-(I). (B)-(1I), (C)-(1I), (D)-(IV)
(2) (A)-(ID. (B)-(I1D). (C)-(IV). (D)-(I)
(3) (A)-(IV). (B)-1). (C)-IID). (D)-(I1I)

(4) (A)-(IID). (B)-(IV), (C)-(I), (D)-(I)

Options :

5362283677. 1
5362283678. 2
5362283679. 3
5362283680. 4

Question Number : 21 Question Id : 536228946 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements :
Statement I : It 1s possible that there are 53 Tuesdays in a non-leap yvear.
Statement II : In a non-leap vear, there are 54 of each day plus one extra day.

In the light of the above statements. choose the correct answer from the options given below :

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement IT are false

(3) Statement I 1s correct but Statement II 1s false
(4) Statement I 1s incorrect but Statement IT 1s true
Options :

5362283681. 1
5362283682. 2
5362283683. 3
5362283684. 4

Question Number : 21 Question Id : 536228946 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

= 3 YA ffu e E

o4 (I): o7 994 & T feel f-sifead (977 =9 <) § TeEn #1535 |
Fe (ID) :  Tohe T—1iem § ueaeh 29 54 91 374 7 371 U A1 29 76 2 |
ITIF FYAT o A H I fahedl § H HA I 9 ¢

(1) =y I3k I EH 58 2 |

(2) =y I sk I 2MT e 2 |

(3) FHIT=z Fg 5 7o 2|

(4) =y I AEea 7 g %o oA 7 |

Options :
5362283681. 1
5362283682. 2



5362283683. 3
5362283684. 4

Question Number : 22 Question Id : 536228947 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Kavitha collected 8 spiders (with 8 legs each) and beetles (with 6 legs each). When she
counted the legs. she found that there were altogether 54. Which of the following 1s/are true?

(A) She collected 5 spiders
(B) She collected 3 spiders
(C) She collected 5 beetles
(D) She collected 3 beetles

Choose the correct answer from the options given below :

(1) (A) and (C) only (2)  (A) and (D) only
(3) (B) and (D) only (4) (B) and (C) only
Options :

5362283685. 1
5362283686. 2
5362283687. 3
5362283688. 4

Question Number : 22 Question Id : 536228947 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Higar 4 8 WHISA (TeF 8 W Arch) R 9T (UAF 6 W A1) THEG R | oW 3E W1 A et fioat
T T 39 F T 54 o | e § ¥ S iE-E1/HE -0 TaE e

(A)  FEF b THISA UHEE H |

(B) 35 3 HHISAT UHLE H |

(C) 35 5 971 UHEA #l |

(D) IEF 3 97 UHEE H

Fr T2 T faret § @ @R I R

(1)  #a9 (A) 37 (C) only (2) =ae (A) #E (D) only

(3)  Fa= (B) 317 (D) only (4) Fa (B) 37 (C) only

Options :

5362283685. 1
5362283686. 2
5362283687. 3
5362283688. 4

Question Number : 23 Question Id : 536228948 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Complete the series :

R Ty
1 75 2 76
3 77 @ 78

Options :

5362283689. 1
5362283690. 2
5362283691. 3
5362283692. 4

Question Number : 23 Question Id : 536228948 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



2.5,9.19.37,.....

(1) 75 (2) 76

(3) 77 (4) 78
Options :

5362283689. 1
5362283690. 2
5362283691. 3
5362283692. 4

Question Number : 24 Question Id : 536228949 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

At what time between 2 and 3 o'clock will the hour hand and minute hand of a eclock
together?

(D 10% min. past 2 () 1[}% min. past 2
10 . :
(3) 11ﬁ min. past 2 (4) 11 min. past 2

Options :

5362283693. 1
5362283694. 2
5362283695. 3
5362283696. 4

Question Number : 24 Question Id : 536228949 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



(1) 239 1{}%1'54:12'47. (2 2999 10%1%1?:117
(3) 2= 11% e m (4) 233 1192 W

Options :

5362283693. 1
5362283694. 2
5362283695. 3
5362283696. 4

Question Number : 25 Question Id : 536228950 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The average of seven consecutive numbers 1s 33. The largest of these numbers 1s

(1) 39 (2) 34
(3) 30 (4) 38
Options :

5362283697. 1
5362283698. 2
5362283699. 3
5362283700. 4

Question Number : 25 Question Id : 536228950 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

OTq HiHF ST &1 9d 33 | =90 © Oed 931 o 201 -

(1) 39 (2) 34
(3) 36 (4) 38
Options :

5362283697. 1



5362283698. 2
5362283699. 3
5362283700. 4

Question Number : 26 Question Id : 536228951 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The second member of the N¥aya syllogism which states the reason for the establishment of
the proposition 1s called.

(D Pratyna (2) Hetu
(3) Udaharana (4) Upnaya
Options :

5362283701. 1
5362283702. 2
5362283703. 3
5362283704. 4

Question Number : 26 Question Id : 536228951 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

M F9E ° A F IE A99d ATaREE il TET % 0 a9 291 7, 39 ®al A e -

~

1) vl 2 =3
(3) L A (4) 373
Options :

5362283701. 1
5362283702. 2
5362283703. 3
5362283704. 4

Question Number : 27 Question Id : 536228952 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



In the argument. ‘sky flower 1s fragrant because 1t 1s a lotus’ e.g. which ever 1s lotus, 1s
fragrant e.g. lotus growing in that pond’

Mention the type of fallacy from the following :

(1) Swaroopasidha (2) Ashrvasidha
(3) Vyaptytvasidha (4) Virudha
Options :

5362283705. 1
5362283706. 2
5362283707. 3
5362283708. 4

Question Number : 27 Question Id : 536228952 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

"SATRTIIREA Gl 7 FI 9% A 7 | See o fore = ot Ael BT & °F gigd Ban 2, S| R
ATeTTE | 3 T F0 |

=0 9% § eAfeiEd 9 o TRE SeaE i Seoid TR T R

(1) w==uEg (2) ImyAtTE
(3) Aeaig (4) Twg
Options :

5362283705. 1
5362283706. 2
5362283707. 3
5362283708. 4

Question Number : 28 Question Id : 536228953 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match List I with List II. List I gives the four types of fallacies while List II explains their
description.

List I List IT

(A) Asidha (). ' Here the middle term 1= contradicted
by another middle term.

(B) Savyabhichara (II) Here the middle term 1= contradicted
by some other pramana and not by
inference.

(C) Satpratipaksha (IIT) It 1s the fallacy of the irregular middle

(D) Badhita (IV) It 1s the fallacy of the unproved middle

Choose the correct answer from the options given below :

(1) (A)-(IL). (B)-(D), (C)-(IID). (D)-(IV)
(2) (A)-(I1I), (B)-(IV), (C)-(ID), (D)-(I)
(3) (A)-(D). (B)-(ID), (C)-aV). (D)~(III)
(4) (A)-(IV), (B)-(III). (C)-(D. (D)-(II)
Options :

5362283709. 1

5362283710. 2

5362283711.3

5362283712. 4

Question Number : 28 Question Id : 536228953 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



A1 i FA1-11 § gafea IS0 G-I 1 97 TR & seams & F@is gei-10 | 336 =amen 4§ T 2 -

gil-I TH-11
(B) w=ATHEw 1) :ﬂﬂﬁj}‘rmuﬁaﬁﬂqmgm:rfm
TFT 371 TH1 g0 BT |
(C) daufaus IID) == AT =0 1 79 2 |
D) =i (Iv) qT:;.'ﬂ'f.q—r'"u%ﬁT‘ﬂ%;ﬂMH%I

= 2 T faweT 8 @ mE I =99 i
1) (A)-(ID). (B)-(I), (C)-(I1I). (D)-(IV)
(2) (A)-(IID). (B)-(IV). (C)-(II). (D)-(D)
(3) (A)-(D). (B)-(IL), (C)-(IV), (D)-(III)
(4) (A)-(IV). (B)-(IID). (C)-(I). (D)-(II)

Options :
5362283709. 1
5362283710. 2

5362283711. 3
5362283712. 4

Question Number : 29 Question Id : 536228954 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled as
Reaszon (R) :

Assertion (A): Indian Philosophy has been 1ntensely spiritual and has always

emphasized the need of practical realization of truth.

Reason (R) : The wood ‘darshana’ means “vision’ and also the instrument of vision
which stands for the direct immediate and intuitive vision of Reality and

also includes the means which lead to this realization.

In the light of the above statements. choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)
(3) (A) 18 correct but (R) 1s not correct

(4) (A) 15 not correct but (R) 1s correct
Options :
5362283713. 1
5362283714. 2
5362283715.3
5362283716. 4

Question Number : 29 Question Id : 536228954 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



9 2 o T2 T # ; w AT (A) 3R g F A (R) FE T

FirFeE (A) - TR T T =T § oNeniaE w2 it oo =N B o 1 s g A
SATETHHAT 9§ 1237 T E |

i) L

S THIES 28 1 TAF 7 G997 EH 97 Aghed i WiEa 2 | 8 dagta i A o

Al = |

3”:?'3 ’-Fﬂzﬁ' =+ -'i-IIvIHI'Hh 'E[ ELSIED Ircldnrvm '.l:[ '.q mﬁ%ﬁﬁ I T —Eﬁ- ;

D (@) i ®) T #E E S R), (A) A = = 2
@ (@) #R ®) = T T R). (A) F O = =
(3) (A TE 2w (R) 79 T8 2 |

(4)  (A) TF TE 2 T R) T R
Options :
5362283713. 1
5362283714. 2
5362283715.3
5362283716. 4

Question Number : 30 Question Id : 536228955 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I : In Indian Philosophy., Nyayva advocates the theory of extrinsic validity of
knowledge called “Paratah Pramanvad”.

Statement II: The Mimansa advocates the self-validity of knowledge both in respect of its

origin and ascertalnment.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement I are correct

(2) Both Statement I and Statement II are incorrect

(3) Statement I 1s correct but Statement IT 1s incorrect

(4) Statement I 1s incorrect but Statement I 1s correct
Options :

5362283717. 1
5362283718. 2
5362283719. 3
5362283720. 4

Question Number : 30 Question Id : 536228955 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



ﬁﬁﬁ$ﬂq%ﬁﬂﬁ%
FoF ([): WA 2909 § =T 79 % a729 3947 1 g4 2 5 W ummEng FE1 S 2

o (1) :  Seats st fafo =i 2fe & A 59 6 sete dua i ands 2)
SUFd HYA F AAE B IR e § H waias 39 I 94

(1) Foq I 3 1L =M1 &t 2 |
(2) Fy I 317 IL =1 o8 981 2 |
(3) A I@# 2 g ua 11 @21 72 2

(4)  wuE Iad 78 2 g o I oF 2

Options :

5362283717. 1
5362283718. 2
5362283719. 3
5362283720. 4

Question Number : 31 Question Id : 536228956 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Microsoft Access, Oracle and SQL are example of

(1) File Data Base (2) Relational Data Base
(3) Template (4) Attmbute
Options :

5362283721. 1
5362283722.2
5362283723. 3
5362283724. 4

Question Number : 31 Question Id : 536228956 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

ATEHETT TFHE, ARF AR UH 9 UF Aeiaiad 4 § e 33 R
(1) IS STel SE (2) TeTEe =
(3) e (4) #A=E
Options :

5362283721. 1
5362283722.2
5362283723. 3
5362283724. 4

Question Number : 32 Question Id : 536228957 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Operating system 1s an interface between

(1) Software and hardware (2) Compiler and hardware
(3) User and Computer (4) Program and software
Options :

5362283725. 1
5362283726. 2
5362283727.3
5362283728. 4

Question Number : 32 Question Id : 536228957 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

(1) =iz HAT BT (2) =TSR T ETEAE
(3) T HN wEE (4) T FHRT AFEETT
Options :

5362283725. 1
5362283726.2
5362283727.3
5362283728. 4

Question Number : 33 Question Id : 536228958 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Which technology 1s used for crypto currency?

(1 Java (2) Block chain
(3) Block code (4) Python
Options :

5362283729. 1
5362283730. 2
5362283731. 3
5362283732. 4

Question Number : 33 Question Id : 536228958 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

i > B L e . i = Y & B [ L.y
2l Tl = hF TEieen] 1 TEe e S E

(1) = (2) == =
(3)  ==E WS (4) =
Options :

5362283729. 1
5362283730. 2
5362283731. 3
5362283732. 4

Question Number : 34 Question Id : 536228959 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I : Internet 1s the largest information base and has become a vital part of our
lives.

Statement IT : HTML 1s an incomplete code package that allows a user to create web pages.

In the light of the above statements. choose the correct answer from the options given below :

(1) Both Statement I and Statement IT are true
(2) Both Statement I and Statement II are false

(3) Statement I 1s correct but Statement II 1s false
(4) Statement I 1= incorrect but Statement II 1s true
Options :

5362283733. 1
5362283734.2
5362283735.3
5362283736. 4

Question Number : 34 Question Id : 536228959 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



= = e By E

wo (1) : 202 =1 1 Ha 951 ATER 7 A0 97 291 S99 1 Hecadol S 94 T4 |
e (1) : HTML U Ag0 H7S T & 1 T g1 98 95 S 999 55T 7 |
T FHAA F AT A AR [FHeT §H FA I

(1)  FFEIAR I 74 2 |

(2 FFEIAIZA =4z |

(8) v\ @ 2 fohg e I 7Terd 7 |

(4)  FF I 3mca 2 g wom L& 2|

Options :

5362283733. 1

5362283734.2

5362283735.3
5362283736. 4

Question Number : 35 Question Id : 536228960 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Full form of the abbreviation CPS 1s :

(1) Computer Program Software
(2) Control Process Software

(3) Cyber Physical Software

(4) Cyber Phys=ical System

Options :

5362283737. 1
5362283738.2
5362283739. 3



5362283740. 4

Question Number : 35 Question Id : 536228960 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

CPS fi=iferfiga § o g ofiqea =g 27
(1) g T0H AR
(2)  THIA THH BRI

(38) == THiaFa givedsw

(4)  wEw THEFa Tem

Options :

5362283737. 1
5362283738.2
5362283739. 3
5362283740. 4

Question Number : 36 Question Id : 536228961 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following conventions protocol originated from Rio Earth Summit?

(A) UN Framework convention on climate change
(B) Ramsar convention on wetlands
(C) UN convention to combat desertification

(D) Eyoto Protocol
(E) Convention on Biological Diversity

Choose the most appropriate answer from the options given below :

(1) (A). (B) and (E) only (2) (A). (C). (D) and (E) only
(3)  (A). (C) and (E) only (4) (B). (C). (D) and (E) only
Options :

5362283741. 1



5362283742.2
5362283743.3
5362283744. 4

Question Number : 36 Question Id : 536228961 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

FeAfefad § ¥ FF F F99E [T i Seafed FEl gzt o ares O 557
) Y Hel T e

(C) U =l THAT F [0 T 72 Faor
(D) AT WEERA

o

H= T ™ et 8 @ wE T g
(1) F== (A), (B) 3 (B) (2) F= (A), (O). (D) ¥ (E)
(3) = (A), (C) ¥ (E) (4) == (B), (C). (D) 37 (E)

Options :

5362283741. 1
5362283742.2
5362283743. 3
5362283744. 4

Question Number : 37 Question Id : 536228962 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Which of the following goals are part of Sustainable Development Goals?

(A) Industry. Innovation and Infrastructure
(B) Universal higher education

(C) Reduced Inequality

(D) Partnerships to achieve goals

(E) Clean air

Choose the correct answer from the options given below :

(1) (A). (B). (C) and (D) only (2) (A). (C) and (D) only
(3)  (A). (B). (C) and (E) only (4) (B). (C). (D) and (E) only
Options :

5362283745. 1
5362283746. 2
5362283747. 3
5362283748. 4

Question Number : 37 Question Id : 536228962 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

fafefga 9 @ = 4 @57 gad fasm @& 4 wfas 27

(A)  FE, TEER AR AGEEA
(B) =i = Tomw 3= o

(C)  =/@grar § =i

(D)  =%F 9T FA F e 'EEreE
(E) w=== a4

= fo1 = faeat 0 @ wd = g

(D F= (A). (B). (O) T (D) (2) = (A), (C) =R (D)

(3)  Fa= (A), (B). (C) 3 (E) (4) Fa= (B). (C). (D) 31 (E)
Options :

5362283745. 1
5362283746. 2



5362283747.3
5362283748. 4

Question Number : 38 Question Id : 536228963 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following countries in increasing order of their installed capacities of wind
energy (as on 2018) :

(A) China
(B) India
(C) USA
(D) France

(E) Germany

Choose the correct answer from the options given below :

1) O<®<0)<® <@ @ O@<®<® <0 <@
(3) (D) =B) <((E)<(C)=(A) 4y (E)<(D)<(B)<(C)<(A)
Options :

5362283749. 1
5362283750. 2
5362283751. 3
5362283752. 4

Question Number : 38 Question Id : 536228963 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



frAfefiaa 2o =t 1 Tam et $1 geurug agar (2018 F1 foufd & 99ER) % §ed %9 9 7

@  =m

(B)  und

(C) 4T

D) %=

(E) =

< fot m foet 9 A A 3 R

1) DM=<E=(C)=B) <@ 2) D) <(E)<B)<(C)<®)

3B D=B=<E=0C=A 4) (E)=[D)=@B)=(C)=@A)
Options :

5362283749. 1
5362283750. 2
5362283751.3
5362283752. 4

Question Number : 39 Question Id : 536228964 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement I : Sunlight 1s a pre-requisite for the formation of photochemical smog in urban
areas.

Statement IT : Photochemical smog 1s a recurring phenomenon in winter and summer
seasons 1n urban areas of India.

In the light of the above statements. choose the most appropriate answer from the options
given below :

(1) Both Statement I and Statement I are true
(2) Both Statement I and Statement II are false

(3) Statement I 1s correct but Statement II 1s false
(4) Statement I 1s incorrect but Statement Il 1s true
Options :

5362283753. 1



5362283754.2
5362283755. 3
5362283756. 4

Question Number : 39 Question Id : 536228964 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

wuA (I): 9= &l § e TEEEE - o A % e gd w wee v gaia # |

FA (D) : TFEEIEENT H-FET GG & TE] & § Wawe o dEE § an-an w6 A
r,:ré..|

IUF FYAT % AR ° ARG Ao § @ wE I o
(1) = [ IL3MT 541 & |

(2) FHF 1A 24 =4 & |

(3) U= L@ = g A 11 7em = |

(4) w35 2 g o LT 2|

Options :

5362283753. 1

5362283754. 2

5362283755. 3
5362283756. 4

Question Number : 40 Question Id : 536228965 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled as
Reason (R) :

Assertion (A):  Global warming potential of a molecule of a greenhouse gas over different
time spans of decades to 100 years may vary significantly.

Reason (R) : Some greenhouse gases have shorter life times compared to carbon
dioxade.

In the light of the above statements. choose the most appropriate answer from the options
given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)
(3) (A) 15 correct but (R) 1s not correct

(4) (A) 1= not correct but (R) 1s correct

Options :

5362283757. 1

5362283758. 2

5362283759. 3
5362283760. 4

Question Number : 40 Question Id : 536228965 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Fr=r 21 A fau e 2 TR O w1 Al (A) AR g6 # 9 (R) FaE T R

HITRT (A) : ZorhT © =t 100 =91 = HA- 310 TEEEUe 3 01 =8E 19 & w1 i dfvas am
4 gfg Fa AT amar § wF ST B T E
% (R) : F2 AiaT28 TG1 1 STl He S13 SA9E1ss i 9o 3 HH w6l F |

1) (&) R ®) A T F @ R). A) F 7 ==
@ Q) i ®) 3 T E e R), (A) F A e T
@) (@ ®) T R
(49 (AT FE 2w (R) T 2
Options :
5362283757. 1
5362283758. 2

5362283759. 3
5362283760. 4

Question Number : 41 Question Id : 536228966 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Teacher-Education 1nstitutions belong to which of the following category?

(1) Non-conventional (2) Technical
(3) Professional (4) Skill bazed

Options :

5362283761. 1
5362283762. 2
5362283763. 3
5362283764. 4



Question Number : 41 Question Id : 536228966 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Torers —foreqor T Fe=rfeifaa 9 o e gl 9 s 27

(1)  T-unie @) T
(3)  =EERE (4) o smehE
Options :

5362283761. 1
5362283762. 2
5362283763. 3
5362283764. 4

Question Number : 42 Question Id : 536228967 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I : Universities of Nalanda. Taxsila and Vikramshila of ancient India are now
all located 1n the Indian Territory.

Statement IT: The entrance test of 1its own kind was prevalent 1n the ancient seats of
learning of India.

In the light of the above statements. choose the most appropriate answer from the options
eiven below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect

(3) Statement I 1s correct but Statement Il 1s incorrect

(4) Statement I 1s incorrect but Statement II 1s correct
Options :

5362283765. 1
5362283766. 2



5362283767. 3
5362283768. 4

Question Number : 42 Question Id : 536228967 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

= 2 T T E

FoH () :  TEH AR ® AE, q@Een AR [GmaEen & Gvarem gaeE § oW qEdE &9 A
A 7 |

FoF (1) : 97 = = 9187 gl § 997 29 AT TR =R TS0 T0ET 26l o |

ST FHUA F AT § IR Gt 3 F Haiae SugEd I I

(1) oA L #2920 2 |

(2) ¥ I 3R I 2A =96 77 7 |

(3)  wua 14 2 g e I a4 =71 2 |
(4) w1 = 77 7 g FoF L5 7 |

Options :

5362283765. 1
5362283766. 2
5362283767. 3
5362283768. 4

Question Number : 43 Question Id : 536228968 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Atal Ranking of higher education institutes and umversities 1s related to achievements in

(1) Basic sciences research

(2) Innovation and entrepreneurship development

(3) Distance mode education

(4) Promotion of environmentally sustainable practices.
Options :

5362283769. 1
5362283770. 2
5362283771. 3
5362283772. 4

Question Number : 43 Question Id : 536228968 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

z=a Tove Tt i favatamemt 1 s e fefafan 3 3 fm soeteat & oy 33 27
(1)  difers fasm gEaE

(2) TETER FH FEEal T

(3) 7 furen wfafy

(4)  TEEEIE = O GURUE Tgaa F Taed

Options :

5362283769. 1
5362283770. 2
5362283771.3
5362283772. 4

Question Number : 44 Question Id : 536228969 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Which of the basic values which can be characterized by the central motivational goal are
related to self transcendence?

(A) Conformity
(B) Power

(C) Benevolence
(D) Universalism
(E) Hedonism

Choose the correct answer from the options given below :

(1) (A) and (B) only (2) (B)and (C) only
(3) (C) and (D) only (4) (D) and (E) only

Options :

5362283773. 1
5362283774.2
5362283775. 3
5362283776. 4

Question Number : 44 Question Id : 536228969 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Frald U 3evA (HeE ZTHSHE JH SN hiA-H SEEe god ATCHRIed (Aeh-2THsH) § Heiad 7 ¢
A)  FFE

(B) T

(C)  HerEmEa

(D)  FEHITEE

(B) =mam

Fr T ™ foredl 8 5 wE S 9

(1) #== (A) 3R (B) (2) Fa= (B) 31 (C)

(3)  Fa= (C) 3R (D) (4) A (D) 3 (E)

Options :
5362283773. 1
5362283774.2



5362283775.3
5362283776. 4

Question Number : 45 Question Id : 536228970 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I : Holistic education 1n ancient India was not just acquisition of knowledge as
preparation for life in this world or Iife beyvond schooling but for complete
realisation and liberation of the self.

Statement I : Values of plura_]is;:a, mutual understan-_:iing and peace constituted the
foundation of holistic education during ancient education.
In the light of the above statements. choose the correct answer from the options given below:

(1) Both Statement I and Statement IT are true
(2) Both Statement [ and Statement II are false

(3) Statement I 1s correct but Statement II 1s false
(4) Statement I is incorrect but Statement II 1s true
Options :

5362283777. 1
5362283778. 2
5362283779. 3
5362283780. 4

Question Number : 45 Question Id : 536228970 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



FA (D) :  THEE 9RA A AeTATE e T Ievd 39 WER 3 e Ava el e F aw & e
F1 T T =g FATET FAT A AR A7 Sk qo7 STen wya o i w1 o)

FoA (II) : WA 12 % SAE 9gaane, SA0E 0 S0 9 Aeeeaas) e i g T\ m w1 9

I9GF FUAT o AT § FiEd e § ¥ Hal I 9

(1) w9 IR D2 8 3 |
(2) w13 I =M1 Tt 2 |
(3)  Fw 1T 2 g #94 I 7Ted 2 |
4 w1 awe ? g =e a8 2 |

Options :

5362283777. 1
5362283778. 2
5362283779. 3
5362283780. 4

Sub-Section Number : 3
Sub-Section Id : 53622839
Question Shuffling Allowed : Yes

Question Id : 536228971 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :
No

Question Numbers : (46 to 50)

Question Label : Comprehension



Read the passage carefully and answer questions from 46 to 50.

‘Being value-centred 1s important to the experence of fulfilment 1n my life: Here the thought
has the stamp of the core concept of ‘'value-centred’ and ‘fulfilment’. This 1s good. However, 1t
has yet not moved Into creative 1imagination of how this can be made possible 1n reality.
Thus, 1t runs the risk of becoming an opinion or simply. a nice thought. ‘A value-centred life
1s tough 1n today’s world. This thought formation could arise from a past experience where
life was made difficult by being value-centred. Also. there could be stories and imagined
scenarios being created in the mind. ‘what if...", ‘what if not...", ete. This could be related to
the comfort-seeking nature of the senses and a part of the vital hife-force that wants to take
the easy way out. If one's core essential concept 1z fulfilment, these imaginary formations
can be halted and the thought can be frozen. Now one can note that without the clarity that
the core principle 1s ‘fulfilment’. this imagination will often be allowed to fashion and
complete its formation. This in turn, will affect the quality of our life and the choices made
then may not serve the ‘fulfillment’ value of the individual. The idea force can use its
sanctioning power to move those thought formations that are aligned to the core concept of
‘value-centred hiving’ and fulfilment and make still or reject those thought formations that
fed by fear'. ‘anxiety’. ‘desire for compromised quicker success’. etc. And if a value or 1deal 1=

not clear. it can reach back to the pure mind for further clarity’.

Sub questions

Question Number : 46 Question Id : 536228972 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

What 1s needed for self-fulfilment?

(1) Focus on values (2) Stamping of the core concept
(3) good thoughts (4) Experience 1n life
Options :

5362283781. 1



5362283782.2
5362283783. 3
5362283784. 4

Question Number : 47 Question Id : 536228973 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The thought of value-based life as tough can be attributed to

(A) being value-centred
(B)  past experiences of difficulty
(C) wild imaginations

(D) the inclination to be 1n a comfort zone

Choose the correct option :

(1) (A) and (B) (2) (B)and (D)
(3)  (B)and (C) (4) (C) and (D)
Options :

5362283785. 1
5362283786. 2
5362283787. 3
5362283788. 4

Question Number : 48 Question Id : 536228974 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



How can an individual move away from imaginary formations about value-centredness?
(1) By freezing one's own thoughts of good life

(2) By having nice thoughts about values in life

(3) By being clear about fulfilment of Iife

(4) By being fashionable about the core concept of life

Options :

5362283789. 1
5362283790. 2
5362283791. 3
5362283792. 4

Question Number : 49 Question Id : 536228975 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The vague 1deas of value-centred life for self-fulfillment will

(1) disturb the comforts of life (2) lead to creative imaginations
(3) promote good quality of life (4) reject the very values sought after
Options :

5362283793. 1
5362283794. 2
5362283795.3
5362283796. 4

Question Number : 50 Question Id : 536228976 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

What 1s the assertion of the author of the passage?

(1) value-centred life 15 an unclear thought
(2) The principle of value-centredness 1s a difficult proposition to achieve
(3) Many factors aligned with value-centredness are negative in character

(4) Todayv's world 1s not for any value system



Options :

5362283797. 1
5362283798. 2
5362283799. 3
5362283800. 4

Question Id : 536228971 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :
No

Question Numbers : (46 to 50)
Question Label : Comprehension

(eATeriiae e 1 SIYEE Tl FN 3HE HTUE T v HeAr 46 9 50 9 o 39 A

‘g —hfrgd BF1 AT Sfiad § THArT 1 SFI9T U A F T BEeaqel 2 : 791, 3@ faEn g ‘geg—ahfed)

31 ‘uftdrs’ 1 Tehfrga FAFUROT F UWE 2| T8 31 2 | 99, T8 3 9 BT geHens Feu 7 6

AT 2 6 aEAaiaEa 8 36 HE OWg S A Sl 2 | SHeT 35 R § 9% AEs £ owE aw oW

U U Scdd foERE S T TR 0| ST % f9vd § gea-whigd wiaq Hied 7| 38 fa=En # FE erdia

F WA T 7 Tl 2, WAl God-hiad B % 0T SEA S S0 23 T A1 | S6E e UH] Fare
R FCE AR TR i e i g a e @ w, Sg Azt 2 @ ..., AR Tm i R

]
Lt

... ofg | =77 sfga 7 smw = 1 wfa @ metua = R e 39 aEea SfEa-se # 9e R A
ATCHEEH A7 3T 9TEdl & | afe e =afaa &1 dfgd Tevas saygnon gidy 2, a1 = FedHE

i~ =5

=T W TR W WGl R OAN TH N W EEg R ST WAl 2| 9% SAwed 7 TR Seted g

uftdr’ 2, sEhl wEdr % faAr & wewar 1 um: ffda s g w1 Fr emefa & 9ol e 8 38 mEn

feram = qea Figa e i ufam Fi @hfza sEaron % w@9ey 39 fFEr A 5 afE w9 S

AT FA Tl B AR W Gl B SR 3 HER-HEG H R @ s w2 oA W,

Faeer', ‘vitg e Ut 6 $EI1 AT ATHRA B 2| S 3fE i gog A faEn w16 R Al 98

HW HATaF T2 H = 0 g 59 H A9E 95 BT E |



Sub questions

Question Number : 46 Question Id : 536228972 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

(1) qe1 T ST Higd H il (2) TehfZa FTUTON F 9T =i |
(3) = = <hi (4) = AT i |
Options :

5362283781. 1
5362283782.2
5362283783. 3
5362283784. 4

Question Number : 47 Question Id : 536228973 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



g~ SATITHRA S Fisd 21 7, T2 =R F=ha 4 9 567 7 smanfa 27

(A) Hoa Ffgd sH W
(B) T % FiaT FIAA T

(C) FogE FATST T

(D) W =T H FEfd W

Foretifn & & A fasen =

(1) (A 71 (B) (2) (B) # (D)
(3) (B) 3 (C) (4) (C) #r (D)

Options :

5362283785. 1
5362283786. 2
5362283787.3
5362283788. 4

Question Number : 48 Question Id : 536228974 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

TS =ATFT HeA—hirgddl * A1 H FHeT 9= o S A WAl 7 7

(1) =3 Hia- & a1 9§ A7 =9 & oG & G

(2) = O geat F AR ° a=s AN T |
(3) <A = ufEm F =W ° o9 7 |

Options :



5362283789. 1
5362283790. 2
5362283791. 3
5362283792. 4

Question Number : 49 Question Id : 536228975 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

HATH - & 0 geg—higd e + 3508 =

(1)  =Ea = AWE | e sem (2) FoATCHT FoTATT 309 F
(3) = S =R W S o (4) FUiE godi H1 SRR 0

Options :

5362283793. 1
5362283794. 2
5362283795. 3
5362283796. 4

Question Number : 50 Question Id : 536228976 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

TR % oiEE I SATEHYE R Y

(1)  gea-=hfgd e v 310w fa=m 2 |

(2)  HeA—Higaar =1 fagra gt = o0 wF =i afasnte 2 |
(3)  HeA-Tehfrgddl @ HE(4d 3% FH HULTCA® F=ET 6 7 |
(4) A = TEva T goa wonett % fo T8 2 |

Options :

5362283797. 1
5362283798. 2
5362283799. 3
5362283800. 4



PART II Marathi

Section Id : 53622814
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 92
Number of Questions to be attempted : 92
Section Marks : 200
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 53622840
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 536228977 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

TG GRIAUIrIS] JelaUd! HIvc goiaT iR &dld?

Options :

5362283801. 1
5362283802. 2
5362283803. 3
5362283804. 4

Question Number : 51 Question Id : 536228977 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



TG GRIAUAMIS! Jelald! HIvc goiar iR &dld?

I

Options :

5362283801. 1
5362283802. 2
5362283803. 3
5362283804. 4

Question Number : 52 Question Id : 536228978 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Yeiciic! B0l sk, eaeted] aig 31g?

1. ®1gd
2. Mg
RN
g

Options :

5362283805. 1
5362283806. 2
5362283807. 3
5362283808. 4

Bow

Question Number : 52 Question Id : 536228978 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



YEIdUch! HI0T st cE-etedl I Hg?

1. "
2. Mg
RN
wiqd

Options :

5362283805. 1
5362283806. 2
5362283807. 3
5362283808. 4

& ow

Question Number : 53 Question Id : 536228979 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

YU JUIde 1 Ufedl giai- o Afear & =R01 SHIURAT 1d HTe?

1. gt

2. Jugadr

3, ggdfdedr

4, QgelidishiSd
Options :
5362283809. 1
5362283810. 2

5362283811.3
5362283812. 4

Question Number : 53 Question Id : 536228979 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



YUIRG® JUaad Ufed glai- S ARAT § TIR01 10l g 318?

1. gl

2, 3Ugdd

3. gHdfaeer
4,9 g‘aia higd
Options :
5362283809. 1
5362283810. 2

5362283811.3
5362283812. 4

Question Number : 54 Question Id : 536228980 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Hifgdl dARHT=A dURTHes dddl SITOT Sl TiedTdie Bivrd SR fied 3Mg?

R
2. Td-PIar
3. gHted
4. UfE

Options :

5362283813. 1
5362283814.2
5362283815. 3
5362283816. 4

Question Number : 54 Question Id : 536228980 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Hifedl doRHTA aRTHes ddkdl SHITOT STl TiedTeiel Sivrd 3R e 3Mmg?

R
2. BB
3. gHEd
4, UrEgd

Options :

5362283813. 1
5362283814.2
5362283815. 3
5362283816. 4

Question Number : 55 Question Id : 536228981 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

TUea Tl geiid? Tidl Jeladd! dIvrdl Tg-T 3Hg?

1. URATD Y=Yl B
2. fqei= fasdus

3. FERY Yoo I A0 o SRRy &Y & cl
4. qIGeTd d9
Options :
5362283817. 1
5362283818. 2

5362283819. 3
5362283820. 4

Question Number : 55 Question Id : 536228981 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



UTea el gaiid? didl Jeladd! dIvTdl Tl SHg?

1. URATD HEgRGcal U
2. faei= fasdue
3. SR Yood IU? A0 o SRRy &Y & cl
4, digerd 99
Options :
5362283817. 1
5362283818. 2
5362283819. 3
5362283820. 4

Question Number : 56 Question Id : 536228982 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

21 IR d HdsdmiH] HEd YR et HRe e R RIUH Uiy &1 7 faadl bi?

1, 4 o 3_%R
2. & AT 3_%R
3. 30 9 8%
4, 1o S 2743

Options :

5362283821. 1
5362283822.2
5362283823. 3
5362283824. 4

Question Number : 56 Question Id : 536228982 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



2. SR HdsmiH! i YR W edes B Be -] |G G690 & 19 fGadl &7

1. 34 T[] 83¥R

2. R AT 93%R

3. R0 T 99%R

4. 39 Tci 9%
Options :
5362283821. 1
5362283822. 2

5362283823.3
5362283824. 4

Question Number : 57 Question Id : 536228983 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

DI § TSI e iadm e 31T diderd e = HYuar e
AT o wIofl ed Ae?

1. 1. =, Hddx

2. o1 &, &fRER
3. 31 Y1, JICUIahl

4, AR=g Hiadary

Options :

5362283825. 1
5362283826. 2
5362283827.3
5362283828. 4

Question Number : 57 Question Id : 536228983 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



BITULIET § Tdlareredn SHfisdid gidd e Al didnd el 3dd HIoard 9ie
e’ 3 HIvh Fged g7

1. 91, &, Hdd
2. 9. &, fRErR
3. . HI. UTeUET

4, TR, Hioaaly

Options :

5362283825. 1
5362283826. 2
5362283827. 3
5362283828. 4

Question Number : 58 Question Id : 536228984 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

WIGIR’ B Uchifdach] IV TeuTd| HHTGI?

1. OQY-IHA

2. Hel[l&

e

4, AT SH
Options :
5362283829. 1
5362283830. 2

5362283831. 3
5362283832. 4

Question Number : 58 Question Id : 536228984 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



TGN Bl Uehifdhchl U] & Ul HHMG!?

1. UU-ATA

2. HelHIHA

3

4, ATTHIAS
Options :
5362283829. 1
5362283830. 2

5362283831. 3
5362283832. 4

Question Number : 59 Question Id : 536228985 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

YR Ud 3MTe, 10T 363 3. YRa™ el - HIEid diad 3, U0 ¥aid g6d U 3Te"
I U T e HRITY THe-=a1 UfeedT SifESdeHd Siv Bed g2

1. 91, ISIgTCTER
2. RS A1ag
3. TdigAY TFIR

4. Tawareiest ufsd

Options :

5362283833. 1
5362283834.2
5362283835. 3
5362283836. 4

Question Number : 59 Question Id : 536228985 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



38 U Tele SiRaT YRAT YT UfgedT SR St wed a2

1. T, I=ITTE
2. WRIfSH A1ag
3. Tdig1Y TFIR
4. farareeH! tiga

Options :

5362283833. 1
5362283834.2
5362283835. 3
5362283836. 4

Question Number : 60 Question Id : 536228986 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

YR HT%E{_% Ha® dddd-IEd [dhdl HHe Weurd g’ 3 YR Aifedraaed
DIV TEedl 3AR?

1. 8. &, ddax
2.4. . e
3. 0. ot fergA
4,81 7. Wiy

Options :

5362283837. 1
5362283838. 2
5362283839. 3
5362283840. 4

Question Number : 60 Question Id : 536228986 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



R Hlﬁ%:ﬂ_%’ Ha®@ dakdd-IEd [dhdl HIHe Weud g’ 3 YRA™ Ao dragerd
DI TEedl 3ATR?

1. 8. &, dqax
2.9. 14 e
3. . ot oA
4,81 7. WiwU

Options :

5362283837. 1
5362283838. 2
5362283839. 3
5362283840. 4

Question Number : 61 Question Id : 536228987 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

BN a7 Teald Yo Siedidl Tl A S0 YUIR HIHiR DIV UhRd YN §1?
1. 3EMm®
2. WD
3. qHAHE
4, TETHE
Options :
5362283841. 1
5362283842. 2

5362283843. 3
5362283844. 4

Question Number : 61 Question Id : 536228987 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



EIOMET a7 Teald Yo Siedidl Tl 3 ST YUR HHiR DI UhRd YN §1?
1. 3D
2. WD
3. HaHE
4, TETHE
Options :
5362283841. 1
5362283842. 2

5362283843. 3
5362283844. 4

Question Number : 62 Question Id : 536228988 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

YTgiaR HiHiT 1 Sl fauar! Sugiferd IRal JFdl od?

1. ded3il-

2. Hiedaa

3. HIUTLE

4, GiigdRd
Options :
5362283845. 1
5362283846. 2
5362283847. 3
5362283848. 4

Question Number : 62 Question Id : 536228988 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



YTgiaR ST 1 Sl fauar! Sudiferd Ial J3Fdl old?

1. ded3il+d

2. Hieda

3. HINT

4, Giigd
Options :
5362283845. 1
5362283846. 2
5362283847.3
5362283848. 4

Question Number : 63 Question Id : 536228989 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

e, graifer, i Sl tReeh arg i Wik sl WIVRT did-d UHR FUH

Jelcdd] dIUdl dibdads drddd old?

1. il
2. Hi8! BiaRT
3. TEEN
4. GBR

Options :

5362283849. 1
5362283850. 2
5362283851. 3
5362283852. 4

Question Number : 63 Question Id : 536228989 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



fTeR, aifea, UgF! el TReRi aTe deg- TIe dal SIURT Alddd JhR FUH

Jelcud dIvdl dibdcds e oid?

1. il
2. His! BiaRT
3. qHEN
4. G381

Options :

5362283849. 1
5362283850. 2
5362283851. 3
5362283852. 4

Question Number : 64 Question Id : 536228990 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

TMHdHI dihhal & TKid BT 3He?

1. 2ol GaTa®HT
2. gAY S
3. fga® Wsae
4, 3¢ Do

Options :

5362283853. 1
5362283854. 2
5362283855.3
5362283856. 4

Question Number : 64 Question Id : 536228990 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



TMHIH G Tihddlr € Jdd SIud Hg?

GG ICER
2. gAY ST
ERGEIGRECT
4, 358 PldaR

Options :

5362283853. 1
5362283854.2
5362283855. 3
5362283856. 4

Question Number : 65 Question Id : 536228991 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

(TR PEadia oeiial T9He HHBAH Geicid! PIuTdm SATb Y oddd e
3MT8?

1. STCiel od axt
2. Herdc®

3. e gl
4, HRETHHER
Options :
5362283857. 1
5362283858. 2
5362283859. 3
5362283860. 4

Question Number : 65 Question Id : 536228991 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



erfafya Seardia saadi<l TOHe WHReIH Jaiadd! HIvdl HTehmY-Igs oad e
Hg?

G GIGIGICEI]
2. eI

3. e gt
4, HRETHABR
Options :
5362283857. 1
5362283858. 2
5362283859. 3
5362283860. 4

Question Number : 66 Question Id : 536228992 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

TS B HIOHUE HIUTEN?

1.71. B. GIeid
2.71. 9. 3lF®
3., TRES
4. dERNER

Options :

5362283861. 1
5362283862. 2
5362283863. 3
5362283864. 4

Question Number : 66 Question Id : 536228992 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



1.71. 8. UIdid
2.7. 9. 3@
3. @, ARGS
4. JERER

Options :

5362283861. 1
5362283862. 2
5362283863. 3
5362283864. 4

Question Number : 67 Question Id : 536228993 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

ST Iod A UTfgcial ek BT

1, TSI
2. Y4,
3. 3
4, UHIDY
Options :
5362283865. 1
5362283866. 2
5362283867. 3
5362283868. 4

Question Number : 67 Question Id : 536228993 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



=TS g A UTgeial e ®ir?

1, TSR
2. 4%
3 3T
4, UHIHI
Options :
5362283865. 1
5362283866. 2
5362283867. 3
5362283868. 4

Question Number : 68 Question Id : 536228994 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

1. PUGHIUG

2. 4R

3. ATl Al

4. ¢qa™
Options :
5362283869. 1
5362283870. 2
5362283871. 3
5362283872. 4

Question Number : 68 Question Id : 536228994 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



1. PO

2. 91t

3. dTTell Afgddr

4, ¢ded
Options :
5362283869. 1
5362283870. 2
5362283871. 3
5362283872. 4

Question Number : 69 Question Id : 536228995 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Beay AeHrd D DHIU?

1. G, . SRUIS
2. Ueelg $ag 3
3. BEET Ul
4. 91, 1, IAT0IH

Options :

5362283873. 1
5362283874.2
5362283875. 3
5362283876. 4

Question Number : 69 Question Id : 536228995 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Deay AICHId T DI

1., . C3UIS
2. Ucelg &9d 3
3. HIEE Yo
4. 91, 7T, T

Options :

5362283873. 1
5362283874.2
5362283875.3
5362283876. 4

Question Number : 70 Question Id : 536228996 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

FHRGT ATSHUT B Uil HIvil fAlgal?

1. Je¥ TaigddR
2. G H5dH
3. g dgaan
4, gGIaH g8ad

Options :

5362283877. 1
5362283878. 2
5362283879. 3
5362283880. 4

Question Number : 70 Question Id : 536228996 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



THRA] ATSHUIT B Thifdd divl fafgdr?

1. FgY Ui adR
2. T STdan
3. faorg dgaar
4. 9519 &3dd
Options :
5362283877. 1
5362283878 2

5362283879. 3
5362283880. 4

Question Number : 71 Question Id : 536228997 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

e ST A0 GHSSHE A deAiihd HIaawWhR SIUdl Hlieddndad [ H
UgIadTd fHoedl?

1. THIT iieddode
2. Jfifcard gifedsas
3. WiaK] Uifigdde@ds

4, JdIc] i ddadad

Options :

5362283881. 1
5362283882. 2
5362283883. 3
5362283884. 4

Question Number : 71 Question Id : 536228997 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



[T ST A0 YHSSHE AT deAiidd HIadWhR SIvdl Jlieddndd [
UgIaary fHedl?

1. AT Olieddeode
2. Jfifcard gfeddsas
3. Wiag] Uiedd®ds

4, J-dIcl e ddadad

Options :

5362283881. 1
5362283882.2
5362283883. 3
5362283884. 4

Question Number : 72 Question Id : 536228998 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Uigd- Ul kil fdhal a¥ad MU S0l IR Sicald SSurdl Bcbidl HH
S, Bl Ulacirel IR SHIvT dell HIg?

Options :

5362283885. 1
5362283886. 2
5362283887. 3
5362283888. 4

Question Number : 72 Question Id : 536228998 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Uigd- Ul kil fdhal a¥ad MU S0l IR Sicald SSurdl Bcbidl HH
S, Bl Ulacirel IR SHIvT dell HIg?

Options :

5362283885. 1
5362283886. 2
5362283887. 3
5362283888. 4

Question Number : 73 Question Id : 536228999 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

YRURRG Uy 9 i [aRUd Siia" Sl dIeai=l dgddl a8y 3ATe?

1. TR §1

2. <RPdl

3. SISl

4, H{dh
Options :
5362283889. 1
5362283890. 2
5362283891. 3
5362283892. 4

Question Number : 73 Question Id : 536228999 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



RO WY 9 I fGRIita Sias S0 Sicaii=n dgadl [auy AHTe?

1, TR &1

2. Rl

3. FISTISd

4, ol
Options :
5362283889. 1
5362283890. 2
5362283891. 3
5362283892. 4

Question Number : 74 Question Id : 5362281000 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Yddl dode e Hewqul &l ‘HRd [d%g siear g Yl oIl aigddr
1, Tifde UHE

2. TRT Sl

3. fagd a

4, T HH

Options :

5362283893. 1
5362283894. 2
5362283895. 3
5362283896. 4

Question Number : 74 Question Id : 5362281000 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Yddl dode e HewqUl &3l ‘HRd [d%g siear g1 Yl Sivl #Aigddr

1. 7lifde UFER
2. ARG =il
3. fagd am

4, AU HH

Options :

5362283893. 1
5362283894. 2
5362283895. 3
5362283896. 4

Question Number : 75 Question Id : 5362281001 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

T FiiedUagaa diied & URdadaig! Olied 3&d. drar e fsad e
FASURGd 84 3H8d. 1969 didl SadR 379ar. § (G i 3g?

1. 3 9], Haidh

2. 711 1. Seidulf
3‘ "

4, g gled
Options :
5362283897. 1
5362283898. 2
5362283899. 3
5362283900. 4

Question Number : 75 Question Id : 5362281001 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



o1 Ffeavaeldid Hifed & URacarg! difed 34d. T Udl [Hisad e
FHGURGd 8d 3. AT9é g dil 3adR 21gar. § [GUH Siv 3Hg?

1.3 91 Hdid?

2. 7. 9. St uif
3‘ »

4. g diad
Options :
5362283897. 1
5362283898. 2
5362283899. 3
5362283900. 4

Question Number : 76 Question Id : 5362281002 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

TG 0T He 1 [bld & DI

1. Aol Uad

2. YaYed &4d
3. UHTH Ore
4. %, 1 RRAE®

Options :

5362283901. 1
5362283902. 2
5362283903. 3
5362283904. 4

Question Number : 76 Question Id : 5362281002 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



HIAG S0 HIS' 1 [T i BIur?

1. AIcioll 488

2. 7G9Ted &od
3. THTH g1
4. h. ? ﬁ <dladhe

Options :

5362283901. 1
5362283902. 2
5362283903. 3
5362283904. 4

Question Number : 77 Question Id : 5362281003 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

AR YRY il el dleas! dIudi?

1. T

2. Ut ¥d AadH
3. STRTEE

4, TETET

Options :

5362283905. 1
5362283906. 2
5362283907. 3
5362283908. 4

Question Number : 77 Question Id : 5362281003 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



TR YRY Gidl Yeladd] dleax] dIudl?

1. TATGU

2. Tt 3d H5d M
3. STRTEE

4, ST

Options :

5362283905. 1
5362283906. 2
5362283907. 3
5362283908. 4

Question Number : 78 Question Id : 5362281004 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Sedr T2 8 TRe9Ug HIvmE

1. Yl. dI. dsHdd
2. HJHY Higidh
3. JalH Hidih
4, idhe He
Options :
5362283909. 1
5362283910. 2

5362283911. 3
5362283912. 4

Question Number : 78 Question Id : 5362281004 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



e G2 g TRa9Ug HivmE

1. Yl. dI. dgHdd
2. HHIY Hidih
3. JalH Hidih
4. fiddhe He
Options :
5362283909. 1
5362283910. 2

5362283911. 3
5362283912. 4

Question Number : 79 Question Id : 5362281005 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Gifea= 9T 1 94 HI0ET?

1. oA
2. HpaHg

3

b
4. HEEiIﬂ
Options :
5362283913. 1
5362283914. 2

5362283915.3
5362283916. 4

Question Number : 79 Question Id : 5362281005 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Options :

5362283913. 1
5362283914.2
5362283915. 3
5362283916. 4

Question Number : 80 Question Id : 5362281006 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

IO GRG0 Hdhed-1 &Iv Jigdl?

RIrG|

. ST
REIELGLE]

IEERIK]

B S R

Options :

5362283917. 1
5362283918.2
5362283919. 3
5362283920. 4

Question Number : 80 Question Id : 5362281006 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



T SIYRUTEI! deg-T HIu Jigdl?

HYd

AT
. fFigatH

sy

B R

Options :

5362283917. 1
5362283918.2
5362283919. 3
5362283920. 4

Question Number : 81 Question Id : 5362281007 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

qw! SueEd faamd 81 ee &0 HYTH Jrudrd?

1. WA
2. e

3. AHH
4. dH®R

Options :

5362283921. 1
5362283922.2
5362283923. 3
5362283924. 4

Question Number : 81 Question Id : 5362281007 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



! GUGAd faddd’ 8 Ues S0 i+ ariRdlda?

1. WIHG

2. Higi

3. AHIH

4. JH® L
Options :
5362283921. 1
5362283922. 2

5362283923.3
5362283924. 4

Question Number : 82 Question Id : 5362281008 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

UiSaudry g1 Uy SIv=n?

1, FERTHEE Afe®e

2. grEaufad

3, ARidg

4. SR ABR®HR
Options :
5362283925. 1
5362283926. 2

5362283927. 3
5362283928. 4

Question Number : 82 Question Id : 5362281008 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Uisauard g U S0

1, SR TS

2, giHuisd

3. ARUg

4. SR ARG
Options :
5362283925. 1
5362283926. 2

5362283927.3
5362283928. 4

Question Number : 83 Question Id : 5362281009 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Sy ST TYHIEEY gid a=gd 9ed HIvar?
RSGEIC

. TeGeh Tl Sffgdigd

S IGIGRIL

e

bW pa

Options :

5362283929. 1
5362283930. 2
5362283931. 3
5362283932. 4

Question Number : 83 Question Id : 5362281009 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



DT AT TYBIGEL Tid HTA D 9TdH BIN?

1. geATHH

2. oG AT Hfgaigd
3. WYE[EEY

4.0

Options :

5362283929. 1
5362283930. 2
5362283931. 3
5362283932. 4

Question Number : 84 Question Id : 5362281010 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

cfcai-seTe HadTe 3 SIv Fed 3e?

1. faamg @
2.afaygs

3, Sforel g
4.1 9 9nd

Options :

5362283933. 1
5362283934. 2
5362283935. 3
5362283936. 4

Question Number : 84 Question Id : 5362281010 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



cfcai-seTe HadTe 3 SIv Fed 3e?

1. faamg @
2.afaygs

3, Sforel g
4.1 9 9nd

Options :

5362283933. 1
5362283934. 2
5362283935. 3
5362283936. 4

Question Number : 85 Question Id : 5362281011 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

e (feifid) arerdt Yelata! ool Ufdles druRel Il ATal?

Hadd
Yraeird

. Piarid

4. Traut
Options :
5362283937. 1
5362283938.2

5362283939. 3
5362283940. 4

[

(0%

Question Number : 85 Question Id : 5362281011 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



qodad
YTaaiTd

. Piaiid

4. Traut
Options :
5362283937. 1
5362283938. 2

5362283939. 3
5362283940. 4

[

L

Question Number : 86 Question Id : 5362281012 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

AIedTd Yelaud! hIvdl HH=Y F9mEr?

1. difd®

2. Hlg g

3. difd®

4, Gid®
Options :
5362283941. 1
5362283942. 2

5362283943. 3
5362283944. 4

Question Number : 86 Question Id : 5362281012 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



ATedhTd Geladad! HIodm HIH=g T9mar?

difd®
e
diftd®
qidd

b o oy

Options :

5362283941. 1
5362283942.2
5362283943. 3
5362283944. 4

Question Number : 87 Question Id : 5362281013 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

sdl Pl Qi Heod 91d H?

1. BUHd
2. 49
3. HIUHTId
4. gt
Options :
5362283945. 1
5362283946. 2

5362283947.3
5362283948. 4

Question Number : 87 Question Id : 5362281013 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



sdl Pl Qi Heod 91d H?

Options :

5362283945. 1
5362283946. 2
5362283947. 3
5362283948. 4

Question Number : 88 Question Id : 5362281014 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

STA1 EXaH aIdl g &1 =Ma?

. 331 dfear gidt

. STET TSI Bl

. TET oG 30T BT gt
Options :

5362283949. 1

5362283950. 2

5362283951. 3
5362283952. 4

B L

Question Number : 88 Question Id : 5362281014 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



3TA] EXaTH Il G &1 3a?

1, 3Tt G gt
2, 3TET afedT= gt
3. 3131 ATEFU &I
4, 3TET FaoiuTg &0 FRUIRT Bl

Options :

5362283949. 1
5362283950. 2
5362283951. 3
5362283952. 4

Question Number : 89 Question Id : 5362281015 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

"G $ UTg Joll 9RE Wefad
o ot 9T B @ gad

o1 Sreauadl Sivi fafeear?

1.1 fcod
2. cieHiars [eess

3. TP [RITGER

4. 9. Bl

Options :

5362283953. 1
5362283954. 2
5362283955. 3
5362283956. 4

Question Number : 89 Question Id : 5362281015 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



"I S UTg o TR Waad
ST farerHT i B d Wi o

el SIegdaat @i fafeear

1.3 feom
2. qefiar feas

3. Tped RIaR

4. 7. pd

Options :

5362283953. 1
5362283954. 2
5362283955. 3
5362283956. 4

Question Number : 90 Question Id : 5362281016 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Y Firdl S0 HF Siga el Ye gIvR Al B, Ridei HeRNl Soard 38 guiH
DIV FliedPdlg 3HIc 3Te?

1. feg : SUOr 955 3s5T1a
2. TRrareii=T garst

3. OHHEE! 981

4, H{UA
Options :

5362283957. 1

5362283958. 2

5362283959. 3
5362283960. 4

Question Number : 90 Question Id : 5362281016 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0

Y Wil ®Ivfl JFT Sigal ATe! e oIUR ATl ©. RIdri HeRMl dqdrd 4 quiH
DIV WIigdddig 3Ic 3H1g?

1. T8 : SOl 9Hg ST
2. TRrareiin garst

3. OYICH! 98

4, HIT9A
Options :

5362283957. 1

5362283958. 2

5362283959. 3
5362283960. 4

Question Number : 91 Question Id : 5362281017 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



JH&1 gaig Faal,

1. BHd (a) AT (c)
2. A (b), (d) 3T ()
3. $dd (a), (b) I (d)
) (

4. G (), (c), (d) 3T (e)

Options :

5362283961. 1
5362283962. 2
5362283963. 3
5362283964. 4

Question Number : 91 Question Id : 5362281017 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



JH&1 gaig Faal,

1. BHd (a) AT (c)
2. A (b), (d) 3T ()
3. $dd (a), (b) I (d)
) (

4. G (), (c), (d) 3T (e)

Options :

5362283961. 1
5362283962. 2
5362283963. 3
5362283964. 4

Question Number : 92 Question Id : 5362281018 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



YINaE el TR BIUdT?
(a) MY TEUTS BUie HdhR

(b) MTHI UM Hifigd

(c) TSI U Uds HdrdHuITel!

(d) HTST FUR YUY UHE HIOH

(&) YTNT TUS HTH]

A% 14 s,

1. Bdd (a) 3T (b)

2, B (a), (b) 30T (d)
3, B (a), (b) 3 (e)

4, BB (a), (b), (c) AT (e)

Options :

5362283965. 1
5362283966. 2
5362283967. 3
5362283968. 4

Question Number : 92 Question Id : 5362281018 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



YINaE el TR BIUdT?
(a) MY TEUTS BUie HdhR

(b) MTHI UM Hifigd

(c) TSI U Uds HdrdHuITel!

(d) HTST FUR YUY UHE HIOH

(&) YTNT TUS HTH]

A% 14 s,

1. Bdd (a) 3T (b)

2, B (a), (b) 30T (d)
3, B (a), (b) 3 (e)

4, BB (a), (b), (c) AT (e)

Options :

5362283965. 1
5362283966. 2
5362283967. 3
5362283968. 4

Question Number : 93 Question Id : 5362281019 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



QR hacaRTT So0d HIvT?
(a) SR

(b) 3HEF
(c) SFTG
(d) 3=

(g) I
+H®1 ggig fas.

1. Ha® (a) AT ()

2. A (b), (c) 3T (e)

3. AP (a), (b) AT (d)
4. A (a), (b, (c) 3 (e)

Options :

5362283969. 1
5362283970. 2
5362283971. 3
5362283972. 4

Question Number : 93 Question Id : 5362281019 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



QR hacaRTT So0d HIvT?
(a) SR

(b) 3HEF
(c) SFTG
(d) 3=

(g) I
+H®1 ggig fas.

1. Ha® (a) AT ()

2. A (b), (c) 3T (e)

3. AP (a), (b) AT (d)
4. A (a), (b, (c) 3 (e)

Options :

5362283969. 1
5362283970. 2
5362283971. 3
5362283972. 4

Question Number : 94 Question Id : 5362281020 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



10T UCRTET HHIAR PRUATT ATl Bidl?

(a) WBG
(b) TIHET

(c) PRIK

Options :

5362283973. 1
5362283974.2
5362283975.3
5362283976. 4

Question Number : 94 Question Id : 5362281020 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



10T UCRTET HHIAR PRUATT ATl Bidl?

(a) WBG
(b) TIHET

(c) PRIK

Options :

5362283973. 1
5362283974. 2
5362283975.3
5362283976. 4

Question Number : 95 Question Id : 5362281021 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



AT <A 1959 AT fGaTT febTd JeITal HeRIY' U1 [quaraR U U= Smaiferd wvard
el B, Jid Qetade! o Iurd faaRddiar Ga1a gidr?

(a) HAYTSad
(b) WY e
() TH. UH ==l
d) . 313
(e) ALILTIN
a1 gt Fasl.

Options :

5362283977. 1
5362283978.2
5362283979. 3
5362283980. 4

Question Number : 95 Question Id : 5362281021 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



AT <A 1959 AT fGaTT febTd JeITal HeRIY' U1 [quaraR U U= Smaiferd wvard
el B, Jid Qetade! o Iurd faaRddiar Ga1a gidr?

(a) HAYTSad
(b) WY e
() TH. UH ==l
d) . 313
(e) ALILTIN
a1 gt Fasl.

Options :

5362283977. 1
5362283978.2
5362283979. 3
5362283980. 4

Question Number : 96 Question Id : 5362281022 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



(a) . GGG Oidl Biddl
(b) Jcd YD gidi diddl
( fawpe ard efad

(d) AR W g Sidd
(e) f&Adx gidl dfaan

SATfuT
3. A () A (e)
3ATfOT

Options :

5362283981. 1
5362283982. 2
5362283983. 3
5362283984. 4

Question Number : 96 Question Id : 5362281022 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



(a) . GGG Oidl Biddl
(b) Jcd YD gidi diddl
( fawpe ard efad

(d) AR W g Sidd
(e) f&Adx gidl dfaan

SATfuT
3. A () A (e)
3ATfOT

Options :

5362283981. 1
5362283982. 2
5362283983. 3
5362283984. 4

Question Number : 97 Question Id : 5362281023 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



TAYUTG ! T HRISTT HIHIdRT Bodrd el Uieddd! HI0dr?
(@) FHIET

(b) ufed a=H

(9 fauge

(d) gaviear

Options :

5362283985. 1
5362283986. 2
5362283987. 3
5362283988. 4

Question Number : 97 Question Id : 5362281023 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



TAYUTG ! T HRISTT HIHIdRT Bodrd el Uieddd! HI0dr?
(@) FHIET

(b) ufed a=H

(9 fauge

(d) gaviear

Options :

5362283985. 1
5362283986. 2
5362283987. 3
5362283988. 4

Question Number : 98 Question Id : 5362281024 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



firdrer sHTs giean Aregdd] SIvAT Higa?
(a) TSI 3P

(b) TOIfd

() FHSd

(d) U, SHHSl

(e) TUAD
A& ugig fHasr.

1. Hd (a), (b) ST (d)

2. HAB (b) ST (¢)

3. HAB (b), (c) 3T (d)
4. A (b), (c) AT (e)

Options :

5362283989. 1
5362283990. 2
5362283991. 3
5362283992. 4

Question Number : 98 Question Id : 5362281024 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



firdrer sHTs giean Aregdd] SIvAT Higa?
(a) TSI 3P

(b) TOIfd

() FHSd

(d) U, SHHSl

(e) TUAD
A& ugig fHasr.

1. Hd (a), (b) ST (d)

2. HAB (b) ST (¢)

3. HAB (b), (c) 3T (d)
4. A (b), (c) AT (e)

Options :

5362283989. 1
5362283990. 2
5362283991. 3
5362283992. 4

Question Number : 99 Question Id : 5362281025 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



! P A e g

Options :

5362283993. 1
5362283994. 2
5362283995. 3
5362283996. 4

Question Number : 99 Question Id : 5362281025 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



! P A e g

Options :

5362283993. 1
5362283994. 2
5362283995. 3
5362283996. 4

Question Number : 100 Question Id : 5362281026 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



EIqUd! THRId WA Tl dlea4] HIvAl?
(a) FPIC

(b) SUSUE!
(c) BIaHE!
(d) TR

Options :

5362283997. 1
5362283998. 2
5362283999. 3
5362284000. 4

Question Number : 100 Question Id : 5362281026 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



EIqUd! THRId WA Tl dlea4] HIvAl?
(a) FPIC

(b) SUSUE!
(c) BIaHE!
(d) TR

Options :

5362283997. 1
5362283998. 2
5362283999. 3
5362284000. 4

Question Number : 101 Question Id : 5362281027 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



UgIcdes! ®Ivniy grei giiefde BuH daiecd oid Ael?
(a) faO® g@RM
(b) EEUrdld

(c) °feld SHIes
(d) TP grdid

Options :

5362284001. 1
5362284002. 2
5362284003. 3
5362284004. 4

Question Number : 101 Question Id : 5362281027 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



UgIcdes! ®Ivniy grei giiefde BuH daiecd oid Ael?
(a) faO® g@RM
(b) EEUrdld

(c) °feld SHIes
(d) TP grdid

Options :

5362284001. 1
5362284002. 2
5362284003. 3
5362284004. 4

Question Number : 102 Question Id : 5362281028 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Options :

5362284005. 1
5362284006. 2
5362284007. 3
5362284008. 4

Question Number : 102 Question Id : 5362281028 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Options :

5362284005. 1
5362284006. 2
5362284007. 3
5362284008. 4

Question Number : 103 Question Id : 5362281029 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Options :

5362284009. 1
5362284010. 2
5362284011. 3
5362284012. 4

Question Number : 103 Question Id : 5362281029 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Options :

5362284009. 1
5362284010. 2
5362284011. 3
5362284012. 4

Question Number : 104 Question Id : 5362281030 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



1. ®ad (a) I ()
2. B (b), (c) AT (d)
3. B (a), () T (d)
4. BB (e), (a) AT (b)

Options :

5362284013. 1
5362284014.2
5362284015. 3
5362284016. 4

Question Number : 104 Question Id : 5362281030 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



1. ®ad (a) I ()
2. B (b), (c) AT (d)
3. B (a), () T (d)
4. BB (e), (a) AT (b)

Options :

5362284013. 1
5362284014.2
5362284015. 3
5362284016. 4

Question Number : 105 Question Id : 5362281031 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Options :

5362284017. 1
5362284018. 2
5362284019. 3
5362284020. 4

Question Number : 105 Question Id : 5362281031 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Options :

5362284017. 1
5362284018. 2
5362284019. 3
5362284020. 4

Question Number : 106 Question Id : 5362281032 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



YEIdU! o101l Y RId HIHd YUIRT Hf 3107 A& HRURIE! g 3 Tdhdi?

(b)
3. 9aS (b), (d) ST (e)
4. hdad (b) A ()

Options :

5362284021. 1
5362284022. 2
5362284023. 3
5362284024. 4

Question Number : 106 Question Id : 5362281032 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



YEIdU! o101l Y RId HIHd YUIRT Hf 3107 A& HRURIE! g 3 Tdhdi?

(b)
3. 9aS (b), (d) ST (e)
4. hdad (b) A ()

Options :

5362284021. 1
5362284022. 2
5362284023. 3
5362284024. 4

Question Number : 107 Question Id : 5362281033 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Options :

5362284025. 1
5362284026. 2
5362284027. 3
5362284028. 4

Question Number : 107 Question Id : 5362281033 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Options :

5362284025. 1
5362284026. 2
5362284027. 3
5362284028. 4

Question Number : 108 Question Id : 5362281034 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



YRUGHR feiares it Sive sreard ae- da?
(a) AR D

b) &g

( =TS

(d) dgeid

(e) S

gelcdd! gy I Fast

1. A (a) AT ()

2. HAD (b) AT (d)
3. ®aD () AT (e)
4m[b3r[;aﬂﬁne;

Options :

5362284029. 1
5362284030. 2
5362284031. 3
5362284032. 4

Question Number : 108 Question Id : 5362281034 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



YRUGHR feiares it Sive sreard ae- da?
(a) AR D

b) &g

( =TS

(d) dgeid

(e) S

gelcdd! gy I Fast

1. A (a) AT ()

2. HAD (b) AT (d)
3. ®aD () AT (e)
4m[b3r[;aﬂﬁne;

Options :

5362284029. 1
5362284030. 2
5362284031. 3
5362284032. 4

Question Number : 109 Question Id : 5362281035 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Qetcdd! ool sfgardl arfeard At et g2
(@) DHH A

(b) UG Gedl
() ¥Rggad!
(d) faeme wRR
) St grear

H®1 oy Fasr.

1. ad (b), (d) 3T (e)
2. HAD (a), (c) 3T (d)
3. HAD (d), (d) AT ()
4, D (b), (0), (d) 3T (e)

Options :

5362284033. 1
5362284034. 2
5362284035. 3
5362284036. 4

Question Number : 109 Question Id : 5362281035 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Qetcdd! ool sfgardl arfeard At et g2
(@) DHH A

(b) UG Gedl
() ¥Rggad!
(d) faeme wRR
) St grear

H®1 oy Fasr.

1. ad (b), (d) 3T (e)
2. HAD (a), (c) 3T (d)
3. HAD (d), (d) AT ()
4, D (b), (0), (d) 3T (e)

Options :

5362284033. 1
5362284034. 2
5362284035. 3
5362284036. 4

Question Number : 110 Question Id : 5362281036 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Yeiduad! - Hifefdd Sivd ?
(a) GG
. 1. qdai
() GUIwEs Sfamics
(d) Sidicd St
() FHUTSIR
g ugig Fasl,

1. ad (a), (<) AT (d)

2. &3 (a), (b) AT (e)

3. B (b), (c), (d) AT (e)
4. &3 (a), (b), (d) 31 (e)

Options :

5362284037. 1
5362284038. 2
5362284039. 3
5362284040. 4

Question Number : 110 Question Id : 5362281036 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Yeiduad! - Hifefdd Sivd ?
(a) GG
. 1. qdai
() GUIwEs Sfamics
(d) Sidicd St
() FHUTSIR
g ugig Fasl,

1. ad (a), (<) AT (d)

2. &3 (a), (b) AT (e)

3. B (b), (c), (d) AT (e)
4. &3 (a), (b), (d) 31 (e)

Options :

5362284037. 1
5362284038. 2
5362284039. 3
5362284040. 4

Question Number : 111 Question Id : 5362281037 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Uoicidd! Ud ThATdid! ¥pe Ul bIufdi?
(a) TXMHOD

(b) HTaTe IAEE;

(c) APED

(d) Y™

(e) Tl HFTEd

H®1 ugiy (Aael,

1. ad (a), (c) 3T (d)
2. BAD (a), (b) M (¢)
3. BAD (b), (d) AT (e)
4 HAD | cL{djﬁﬂﬁH[e]
Options :
5362284041. 1
5362284042, 2

5362284043. 3
5362284044. 4

Question Number : 111 Question Id : 5362281037 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Uoicidd! Ud ThATdid! ¥pe Ul bIufdi?
(a) TXMHOD

(b) HTaTe IAEE;

(c) APED

(d) Y™

(e) Tl HFTEd

H®1 ugiy (Aael,

1. ad (a), (c) 3T (d)
2. BAD (a), (b) M (¢)
3. BAD (b), (d) AT (e)
4 HAD | cL{djﬁﬂﬁH[e]
Options :
5362284041. 1
5362284042, 2

5362284043. 3
5362284044. 4

Question Number : 112 Question Id : 5362281038 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Ueladd! S0 Iy IR Siga?
(a) HREIM

(b) WHIGIERE

(© FegEicaaeig

(d) UdgUEds

(e) WUIACRIDHIAIGRINIAT

H®T Ugg AasT,

Options :

5362284045. 1
5362284046. 2
5362284047. 3
5362284048. 4

Question Number : 112 Question Id : 5362281038 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Ueladd! S0 Iy IR Siga?
(a) HREIM

(b) WHIGIERE

(© FegEicaaeig

(d) UdgUEds

(e) WUIACRIDHIAIGRINIAT

H®T Ugg AasT,

Options :

5362284045. 1
5362284046. 2
5362284047. 3
5362284048. 4

Question Number : 113 Question Id : 5362281039 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



(a) dHH&

(b) =

(c) FoaarH

(d) SIQUH IS
(e) SIRMMARY
&1 ggiyg Hael.

1. Had (a), (b) ST (c)

z.m{b,[c;.&:ﬁ{d
3. HdS (b), (d) AT (e)

4, HAD (a), (b) 30T (d)

Options :

5362284049. 1
5362284050. 2
5362284051. 3
5362284052. 4

Question Number : 113 Question Id : 5362281039 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



(a) dHH&

(b) =

(c) FoaarH

(d) SIQUH IS
(e) SIRMMARY
&1 ggiyg Hael.

1. Had (a), (b) ST (c)

z.m{b,[c;.&:ﬁ{d
3. HdS (b), (d) AT (e)

4, HAD (a), (b) 30T (d)

Options :

5362284049. 1
5362284050. 2
5362284051. 3
5362284052. 4

Question Number : 114 Question Id : 5362281040 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Wil YETeUe] BIvN- 0y WieTdemi My GiffTae?
(a) oIl

(b) HealeHl

Options :

5362284053. 1
5362284054. 2
5362284055. 3
5362284056. 4

Question Number : 114 Question Id : 5362281040 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Wil YETeUe] BIvN- 0y WieTdemi My GiffTae?
(a) oIl

(b) HealeHl

Options :

5362284053. 1
5362284054. 2
5362284055. 3
5362284056. 4

Question Number : 115 Question Id : 5362281041 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



UelaUd! AHGd Ul aiedl iddl HIvr?
(a) TR

(b) TCHTISE

( feu

(d) SR

(e) &I

@ uaig fas.

1. T (a) 31T ()

2. HAD (a), (d) 3 (e)

3. AP (a), (b) AT (d)

4. AP (a), (b), (c) SN (e)

Options :

5362284057. 1
5362284058. 2
5362284059. 3
5362284060. 4

Question Number : 115 Question Id : 5362281041 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



UelaUd! AHGd Ul aiedl iddl HIvr?
(a) TR

(b) TCHTISE

( feu

(d) SR

(e) &I

@ uaig fas.

1. T (a) 31T ()

2. HAD (a), (d) 3 (e)

3. AP (a), (b) AT (d)

4. AP (a), (b), (c) SN (e)

Options :

5362284057. 1
5362284058. 2
5362284059. 3
5362284060. 4

Question Number : 116 Question Id : 5362281042 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



List | List Il
(A) TAEP UEEATE () A ey
@) UfeR® uwiags () oS sqabies
(© feerd fagm e g R
(D) TEAEE WA (v) HEdd seid

giT qgig g

1. (A)-(11), (B)-(1n), (C)-(1V), (D)-(1)

2. (A)-(1), (B)-(1), (C)-(V). (D)-(11)

3. (A)-(D). (B)-(IN), (Q)-(lIN). (D)-(IV)

4. (A)-(IV), (B)-(lIT), (C)-(11), (D)-(1)
Options :

5362284061. 1
5362284062. 2
5362284063. 3
5362284064. 4

Question Number : 116 Question Id : 5362281042 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



List | List Il
(A) TAEP UEEATE () A ey
@) UfeR® uwiags () oS sqabies
(© feerd fagm e g R
(D) TEAEE WA (v) HEdd seid

giT qgig g

1. (A)-(11), (B)-(1n), (C)-(1V), (D)-(1)

2. (A)-(1), (B)-(1), (C)-(V). (D)-(11)

3. (A)-(D). (B)-(IN), (Q)-(lIN). (D)-(IV)

4. (A)-(IV), (B)-(lIT), (C)-(11), (D)-(1)
Options :

5362284061. 1
5362284062. 2
5362284063. 3
5362284064. 4

Question Number : 117 Question Id : 5362281043 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



List | List II

(a) T () DHID

(b) AT O ERCICEUEIEER
() UndgEdmYgdl () RugEidER
(d) Fe vy A

g yhig Aaar

1. (@)-(I1), (b)-(1), (c)-(), (d)-(IV)

2. (a)-(I), (b)-(1). ()-(1), (d)-(IV)

3. (@)-(IV), (b)-(1), (c)-(11), (d)-(In)

4. (a)-(1), (b)-(11), (c)-(1V), (d)-(1)
Options :

5362284065. 1
5362284066. 2
5362284067. 3
5362284068. 4

Question Number : 117 Question Id : 5362281043 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



List | List II

(a) T () DHID

(b) AT O ERCICEUEIEER
() UndgEdmYgdl () RugEidER
(d) Fe vy A

g yhig Aaar

1. (@)-(I1), (b)-(1), (c)-(), (d)-(IV)

2. (a)-(I), (b)-(1). ()-(1), (d)-(IV)

3. (@)-(IV), (b)-(1), (c)-(11), (d)-(In)

4. (a)-(1), (b)-(11), (c)-(1V), (d)-(1)
Options :

5362284065. 1
5362284066. 2
5362284067. 3
5362284068. 4

Question Number : 118 Question Id : 5362281044 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



T3 YIYIaRaR 3 Wil BRI81d YNidRd dcedl Qifedddl di=dl siiedl el

List | List Il
A) oo, SR () HeH
(B) TR oIieh 1y IERER]
() TR®IdsPR () @S eE
(D) df=dr grdd (V) el drar=ar gidcld]

1. (A)-(11), (B)-(1). ()-(1V), (d)-(1h1)
2. (A)-(I), (B)-(1V), (<)-(11), (d)-(1m)
3. (A)-(). (B)-(IN), (<)-(V), (d)-(1)
4. (A)-(V), (B)-(111), (c)-(1). (d)-(1)

Options :

5362284069. 1
5362284070. 2
5362284071. 3
5362284072. 4

Question Number : 118 Question Id : 5362281044 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



T3 YIYIaRaR 3 Wil BRI81d YNidRd dcedl Qifedddl di=dl siiedl el

List | List Il
A) oo, SR () HeH
(B) TR oIieh 1y IERER]
() TR®IdsPR () @S eE
(D) df=dr grdd (V) el drar=ar gidcld]

1. (A)-(11), (B)-(1). ()-(1V), (d)-(1h1)
2. (A)-(I), (B)-(1V), (<)-(11), (d)-(1m)
3. (A)-(). (B)-(IN), (<)-(V), (d)-(1)
4. (A)-(V), (B)-(111), (c)-(1). (d)-(1)

Options :

5362284069. 1
5362284070. 2
5362284071. 3
5362284072. 4

Question Number : 119 Question Id : 5362281045 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Ty 31foT JUdR gi=ar Siear AT,

List | List Il

(2) TP TSP () TSI dibidl HEpdl
(b) LTS () cihdYdd

(c) TRIGauIdl Sl (1) CbargHara adi
(d) SUEdl @ (V) Tiodied dgal
gr gafyg Faar.

1. (a)-(1). (b)-(1), (c)-(1V), (d)-(I)

2. (@)-(), (b)-(1V), ()-(11), (d)-(1)

3. (a)-(IV), (b)-(1), (c)-(m), (d)-(1)

4. (a)-(1n), (b)-(111), (c)-(1), (d)-(IV)
Options :

5362284073. 1
5362284074. 2
5362284075. 3
5362284076. 4

Question Number : 119 Question Id : 5362281045 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Ty 31foT JUdR gi=ar Siear AT,

List | List Il

(2) TP TSP () TSI dibidl HEpdl
(b) LTS () cihdYdd

(c) TRIGauIdl Sl (1) CbargHara adi
(d) SUEdl @ (V) Tiodied dgal
gr gafyg Faar.

1. (a)-(1). (b)-(1), (c)-(1V), (d)-(I)

2. (@)-(), (b)-(1V), ()-(11), (d)-(1)

3. (a)-(IV), (b)-(1), (c)-(m), (d)-(1)

4. (a)-(1n), (b)-(111), (c)-(1), (d)-(IV)
Options :

5362284073. 1
5362284074. 2
5362284075. 3
5362284076. 4

Question Number : 120 Question Id : 5362281046 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



HAlTH! d Tid HIoadYe gl Sl Jeadl.

List | List Il
(A) =N ) FEEd
(B) SfedT () oodid
(C) ZidlSdH (1) BRG]
(D) WHT TR (V) TS
gy 3R Faal
1. (A)-(1), (B)-(), (C)-(11), (D)-(IV)
2. (A)-(11), (B)-(1), (C)-(1), (D)-(IV)
3. (A)-(IV), (B)-(1), (C)-(1), (D)-(1)
4. (A)-(I), (B)-(1), (C)-(1V), (D)-(11)

Options :

5362284077. 1
5362284078. 2
5362284079. 3
5362284080. 4

Question Number : 120 Question Id : 5362281046 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



HAlTH! d Tid HIoadYe gl Sl Jeadl.

List | List Il
(A) =N ) FEEd
(B) SfedT () oodid
(C) ZidlSdH (1) BRG]
(D) WHT TR (V) TS
gy 3R Faal
1. (A)-(1), (B)-(), (C)-(11), (D)-(IV)
2. (A)-(11), (B)-(1), (C)-(1), (D)-(IV)
3. (A)-(IV), (B)-(1), (C)-(1), (D)-(1)
4. (A)-(I), (B)-(1), (C)-(1V), (D)-(11)

Options :

5362284077. 1
5362284078. 2
5362284079. 3
5362284080. 4

Question Number : 121 Question Id : 5362281047 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



BICaL] A0 BIeIBR T2 Jsd] ardl,

List | List Il
(A) IRGcodl () digel
(B) SFIGII TS (1) Udl A&ciarell o
() foamg 7R () THaHA
(D) WWERIMEAR  (v) URY
g1 ggig fAaar
1. (A)-(IV), (B)-(D), (C)-(11), (D)-(1I)
2. (A)-(1), (B)-(IN), (C)-(l1), (D)-(IV)
3. (A)-(l1), (B)-(1V), (C)-(11), (D)-(1)
4. (A)-(11), (B)-(1n), (C)-(1), (D)-(IV)

Options :

5362284081. 1
5362284082. 2
5362284083. 3
5362284084. 4

Question Number : 121 Question Id : 5362281047 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



BICaL] A0 BIeIBR T2 Jsd] ardl,

List | List Il
(A) IRGcodl () digel
(B) SFIGII TS (1) Udl A&ciarell o
() foamg 7R () THaHA
(D) WWERIMEAR  (v) URY
g1 ggig fAaar
1. (A)-(IV), (B)-(D), (C)-(11), (D)-(1I)
2. (A)-(1), (B)-(IN), (C)-(l1), (D)-(IV)
3. (A)-(l1), (B)-(1V), (C)-(11), (D)-(1)
4. (A)-(11), (B)-(1n), (C)-(1), (D)-(IV)

Options :

5362284081. 1
5362284082. 2
5362284083. 3
5362284084. 4

Question Number : 122 Question Id : 5362281048 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Ty g YYDR U1 el S,

List | List 1l
(A) IATIBR () JoTERET
(B) DIGHEMT (1) HSAE®
© WHEDIGE () IHC
(D) Tageuul (V) Hedid
g ugig Faal
1. (A)-(11), (B)-(1), (C}-(1V), (D)-(I1)
2. (A)-(1), (B)-(I), (C)-(IV), (D)-(l)
3. (A)-(IV), (B)-(l1), (C)-(11), (D)-(1)
4. (A)-(1), (B)-(I), (C)-(11), (D)-(IV)

Options :

5362284085. 1
5362284086. 2
5362284087. 3
5362284088. 4

Question Number : 122 Question Id : 5362281048 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Ty g YYDR U1 el S,

List | List 1l
(A) IATIBR () JoTERET
(B) DIGHEMT (1) HSAE®
© WHEDIGE () IHC
(D) Tageuul (V) Hedid
g ugig Faal
1. (A)-(11), (B)-(1), (C}-(1V), (D)-(I1)
2. (A)-(1), (B)-(I), (C)-(IV), (D)-(l)
3. (A)-(IV), (B)-(l1), (C)-(11), (D)-(1)
4. (A)-(1), (B)-(I), (C)-(11), (D)-(IV)

Options :

5362284085. 1
5362284086. 2
5362284087. 3
5362284088. 4

Question Number : 123 Question Id : 5362281049 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



List | List II
A) TOSERGGR () AR AR
(B) TEAURGHAR () fRImfdD
(€) JYaRaday () TEagH
(D) dHARGAR (V) AT DRl
gy gy (Haal

1. (A)-(1). (B)-(1). (C)-(1V). (D)-(1I1
2. (A)-(I), (B)-(l1), (C)-(V). (D)-(lil
3. (A)-(1). (B)-(1V), (C)-(1). (D)-(1N
4. (A)-(1I1), (B)-(1), (C)-(IV), (D)-(lI
Options :

5362284089. 1

5362284090. 2

5362284091. 3

5362284092. 4

[ — —

Question Number : 123 Question Id : 5362281049 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



List | List II
A) TOSERGGR () AR AR
(B) TEAURGHAR () fRImfdD
(€) JYaRaday () TEagH
(D) dHARGAR (V) AT DRl
gy gy (Haal

1. (A)-(1). (B)-(1). (C)-(1V). (D)-(1I1
2. (A)-(I), (B)-(l1), (C)-(V). (D)-(lil
3. (A)-(1). (B)-(1V), (C)-(1). (D)-(1N
4. (A)-(1I1), (B)-(1), (C)-(IV), (D)-(lI
Options :

5362284089. 1

5362284090. 2

5362284091. 3

5362284092. 4

[ — —

Question Number : 124 Question Id : 5362281050 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



TPl 31U BIAAUSR Fied SiiSdl Seod.

List | List [l
(A) AR BESIE!
(B) T® an  HHs
(C) SHIg (A
(D) SeH (V) Tiaral

H$ 3493 FaaT.

1. (A)-(1). (BY-(1N), (C)-(1m), (D
2. (A)=(), (B)-(1). (C)-(1). (D
3. (A)-(11), (B)-(1n, (C)-(1V), (D
4. (A)-(IV), (B)-(1D), (C)-(I), (D
Options :

5362284093. 1

5362284094. 2

5362284095. 3

5362284096. 4

)=(IV)
- )=(IV)
- )-()
: )-()

Question Number : 124 Question Id : 5362281050 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



TPl 31U BIAAUSR Fied SiiSdl Seod.

List | List [l
(A) AR BESIE!
(B) T® an  HHs
(C) SHIg (A
(D) SeH (V) Tiaral

H$ 3493 FaaT.

1. (A)-(1). (BY-(1N), (C)-(1m), (D
2. (A)=(), (B)-(1). (C)-(1). (D
3. (A)-(11), (B)-(1n, (C)-(1V), (D
4. (A)-(IV), (B)-(1D), (C)-(I), (D
Options :

5362284093. 1

5362284094. 2

5362284095. 3

5362284096. 4

)=(IV)
- )=(IV)
- )-()
: )-()

Question Number : 125 Question Id : 5362281051 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



List | List 1
(A)  SHEE (1) Srded
(B) il OIEL
() &9RdEal  (u) «4e
(o) Frers (V) daddl dla

1. (A)=(10), (B)-(1V), (C)-(1), (D)-(1)
2. (A)-(I), (B)-(1). (C)-(1V), (D)-(llT)
3. (A)=(l), (B)-(1V), (C)-(1), (D)-(11)
4. (A)-(1), (B)-(1n), (C)-(1), (D)-(IV)

Options :

5362284097. 1
5362284098. 2
5362284099. 3
5362284100. 4

Question Number : 125 Question Id : 5362281051 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



List | List 1
(A)  SHEE (1) Srded
(B) il OIEL
() &9RdEal  (u) «4e
(o) Frers (V) daddl dla

1. (A)=(10), (B)-(1V), (C)-(1), (D)-(1)
2. (A)-(I), (B)-(1). (C)-(1V), (D)-(llT)
3. (A)=(l), (B)-(1V), (C)-(1), (D)-(11)
4. (A)-(1), (B)-(1n), (C)-(1), (D)-(IV)

Options :

5362284097. 1
5362284098. 2
5362284099. 3
5362284100. 4

Question Number : 126 Question Id : 5362281052 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Yt W91 ufgsddial el uedhial aiy &H .

Options :

5362284101. 1
5362284102. 2
5362284103. 3
5362284104. 4

Question Number : 126 Question Id : 5362281052 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Yt W91 ufgsddial el uedhial aiy &H .

Options :

5362284101. 1
5362284102. 2
5362284103. 3
5362284104. 4

Question Number : 127 Question Id : 5362281053 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



YRS 9T gied] FRI81 HISdRd Sifiedddidl Yo RHau9R HH .
(A) gHHId
(8) radl
(C) TdIggIe
(D) Tidcdl gR=Eg
(

Options :

5362284105. 1
5362284106. 2
5362284107. 3
5362284108. 4

Question Number : 127 Question Id : 5362281053 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



YRS 9T gied] FRI81 HISdRd Sifiedddidl Yo RHau9R HH .
(A) gHHId
(8) radl
(C) TdIggIe
(D) Tidcdl gR=Eg
(

Options :

5362284105. 1
5362284106. 2
5362284107. 3
5362284108. 4

Question Number : 128 Question Id : 5362281054 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Options :

5362284109. 1
5362284110. 2
5362284111.3
5362284112. 4

Question Number : 128 Question Id : 5362281054 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Options :

5362284109. 1
5362284110. 2
5362284111.3
5362284112. 4

Question Number : 129 Question Id : 5362281055 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



YRG! UGB gidt fafecder Ui ThRH BIeaR HH .
(A) YRETG

(B) Frcie SR §E

(C) STl ATHI
(
(

Options :

5362284113. 1
5362284114.2
5362284115.3
5362284116. 4

Question Number : 129 Question Id : 5362281055 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



YRG! UGB gidt fafecder Ui ThRH BIeaR HH .
(A) YRETG

(B) Frcie SR §E

(C) STl ATHI
(
(

Options :

5362284113. 1
5362284114.2
5362284115.3
5362284116. 4

Question Number : 130 Question Id : 5362281056 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



(a) FEYER 2 MdedH

(B) THTS 10T Arig gt

(€) idsdl d@de A gifed
(

(

D) Gicd Ui g <101 &g
E) HideHde] HdGd GHIET

Options :

5362284117. 1
5362284118. 2
5362284119.3
5362284120. 4

Question Number : 130 Question Id : 5362281056 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



(a) FEYER 2 MdedH

(B) THTS 10T Arig gt

(€) idsdl d@de A gifed
(

(

D) Gicd Ui g <101 &g
E) HideHde] HdGd GHIET

Options :

5362284117. 1
5362284118. 2
5362284119.3
5362284120. 4

Question Number : 131 Question Id : 5362281057 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Y goaUdR Ui dlcadigl Yo RH duR HH .
A ffdeTudies

Options :

5362284121. 1
5362284122.2
5362284123. 3
5362284124. 4

Question Number : 131 Question Id : 5362281057 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Y goaUdR Ui dlcadigl Yo RH duR HH .
A ffdeTudies

Options :

5362284121. 1
5362284122.2
5362284123. 3
5362284124. 4

Question Number : 132 Question Id : 5362281058 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



JIUlG PV Blege Al Aledhidl HH T,

Options :

5362284125. 1
5362284126. 2
5362284127. 3
5362284128. 4

Question Number : 132 Question Id : 5362281058 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



JIUlG PV Blege Al Aledhidl HH T,

Options :

5362284125. 1
5362284126. 2
5362284127. 3
5362284128. 4

Question Number : 133 Question Id : 5362281059 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



IR ST HAH YeTd AiedudR Hadiof ez

(A) TldHEY

(B) HAddyl

(C) Heldlcd

(D) WaHIA

(F) <rauil

g ggig (gl

1. (A), (B). (C), (D), (E)

2. (A), (C), (B), (D), (E)

3. (Q), (D), (E), (B), (A)

4. (C). (D), (E). (A), (B)
Options :

5362284129. 1
5362284130. 2
5362284131.3
5362284132. 4

Question Number : 133 Question Id : 5362281059 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



IR ST HAH YeTd AiedudR Hadiof ez

(A) TldHEY

(B) HAddyl

(C) Heldlcd

(D) WaHIA

(F) <rauil

g ggig (gl

1. (A), (B). (C), (D), (E)

2. (A), (C), (B), (D), (E)

3. (Q), (D), (E), (B), (A)

4. (C). (D), (E). (A), (B)
Options :

5362284129. 1
5362284130. 2
5362284131.3
5362284132. 4

Question Number : 134 Question Id : 5362281060 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



geid 4y Fiedl AE-dhIo ER Tl
(A) IR

(B) ¥d
() R
(

(

Options :

5362284133. 1
5362284134.2
5362284135. 3
5362284136. 4

Question Number : 134 Question Id : 5362281060 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



geid 4y Fiedl AE-dhIo ER Tl
(A) IR

(B) ¥d
() R
(

(

Options :

5362284133. 1
5362284134.2
5362284135. 3
5362284136. 4

Question Number : 135 Question Id : 5362281061 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Options :

5362284137. 1
5362284138.2
5362284139. 3
5362284140. 4

Question Number : 135 Question Id : 5362281061 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Options :

5362284137. 1
5362284138.2
5362284139. 3
5362284140. 4

Question Number : 136 Question Id : 5362281062 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Ue & faem el amga.

Statement (1) : TETOTHTYET TR SHaearg 9,

Statement (l1) : e WA Ha-asdg o,

3Hi¥e HHToT ITRIE1 Ugiy Has,

(1)

zﬁ’ﬂmmaﬂfﬂ]ﬁﬂm ||}®6ﬂ%ﬁ
[]Eﬁ!@?ﬂ?@ﬁi’ﬂm (1) IP T8
(1)



Options :

5362284141. 1
5362284142. 2
5362284143.3
5362284144. 4

Question Number : 136 Question Id : 5362281062 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Ue oM fauH feeieh aed.

Statement (1) : THTOTHTST BT SHideasdia 3gdi,
Statement (l1) : dlcii=n UaRT id:aEy orgdi,
Hi¥e W JTRa ugig Hag.

1. T38m 1) 3for faem () S¥ER 3med
2. 148 (1) 3101 fae™ () I HTed

3. TaeH (1) RIS 43 fae™ (1) 9P 318
4. 134 (1) I W [auH (1) SRR 38

Options :

5362284141. 1
5362284142.2
5362284143. 3
5362284144. 4

Question Number : 137 Question Id : 5362281063 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Ue &M faur fEard amed.
Statement (I) :  DIUTATG!] IXURIATG! GRITT RIGUCIaRI] GA<dHT 81 HTHTold G810 Ul 33d 34,

Statement (II) : TSl IFHIEA 3G FiHT HRA GRURG UIBRS1[06S 88 JHR Bid.
iY@ GHTeg JarEl 9arg Haal.

1) 30T {38 (1) W sned
1) 3O faem () |@ie sed
1) W 3T, TR UM () Tie 3
1) Wi 38, U faem () T 3

1. fde=
2. fau=
3. faem=
4. faum=

— g

Options :

5362284145. 1
5362284146. 2
5362284147. 3
5362284148. 4

Question Number : 137 Question Id : 5362281063 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Ue &M faur fEard amed.
Statement (I) :  DIUTATG!] IXURIATG! GRITT RIGUCIaRI] GA<dHT 81 HTHTold G810 Ul 33d 34,

Statement (II) : TSl IFHIEA 3G FiHT HRA GRURG UIBRS1[06S 88 JHR Bid.
iY@ GHTeg JarEl 9arg Haal.

1) 30T {38 (1) W sned
1) 3O faem () |@ie sed
1) W 3T, TR UM () Tie 3
) i 3ffe, U fau () @Y 38

1. fde=
2. fau=
3. faem=
4. faum=

— g

Options :



5362284145. 1
5362284146. 2
5362284147. 3
5362284148. 4

Question Number : 138 Question Id : 5362281064 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

e o faur faaredl oed. (A) & UM %A 4 (R) & PR BUH & o,
Assertion (A) : WWW o U sld.

Reasons (R) : WW Ud’ Iﬂ‘ﬂ@ﬁ

31 THTT JwRE Uiy fas.

(A) SAITOT (R) ISR 3G (R) & (A) o TG WHH 31Te
(&) HITOT (R) SRISR 3Ted, T (R) § (A) T AT TBIH00 ATEl
(A) IR, T (R) TP T8
(A) TP, U (R) I AT

Py =

kS
4.
Options :

5362284149. 1
5362284150. 2

5362284151. 3
5362284152. 4

Question Number : 138 Question Id : 5362281064 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Ye G fae feeiedl aed. (4) & fauH ®|UHE 4 (R) § PIH U fad 38,
Assertion (A) : WWW o U sld.

Reasons (R} : TR MddIeary Ha' Ui Bi.

3if¥eh YHTog JTRral gy e,

. (A) HTOT (R) SRIER 3R (R) & (A) o 90 SPIHI0 HTe
. (A) IO (R) SRISR 3fTed, W (R) & (A) < 917 IO el
- (A) TR, TG (R) TP e
(A)

Options :

5362284149. 1
5362284150. 2
5362284151.3
5362284152. 4

Question Number : 139 Question Id : 5362281065 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

e i fuM fediel oRd. (A) § ey ®UF 4 (R) § WHHR0 U e o
Assertion (A) :  GTSHAM HGHWEHTE THE TSR UM argHdH 44 B
Reasons (R): 4TIl WY@ Usdl dl 4§ 31 FER UYIG USdl 9l $HE, § ad did-d
Tiiedrd dg ®IHT 3.

3ffYe YTe JovET vl Faat.

) HIMOT (R) TRIER 31 (R) © (A) d TRY TPIEHT 3T

) 3T R}W&H%HWR}E{A EE I ES G T E I
]aﬁa’?mﬂ{ﬂ I AR

. (A) T, U (R) SR (T8

Options :

5362284153. 1
5362284154. 2



5362284155.3
5362284156. 4

Question Number : 139 Question Id : 5362281065 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

e & faer feciell oied. (A) § U %UH 9 (R) § B BUH fad 3.
Assertion (A) :  IGHAM HIGHYCHTH UHE HdSHR LU argHdH UHIG §i.
Reasons (R) : mnwmﬁ%&mmwmﬁmgﬁﬁaﬁm
Tifedd tha =1 e,

3Hfie yTe JavrEr wai Faa.

1. (A) ST (R) SRR Y (R) T () F TG TFIHRT 3HTe

2. (A) HIUT (R) SRIER ATed, W (R) © (A) D TG SETHI0 T8l
(W) RR, T R) TP M

() T, TG (R) TR T8

Options :

5362284153 1

5362284154. 2

5362284155. 3
5362284156. 4

Lo

Question Number : 140 Question Id : 5362281066 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



q%"dFTfEHF#fE@Eﬁ-aﬂﬁﬂ

Statement (I) : SOI®H “HOoBRTad A0 AlgaHHGT ma‘mwﬁ%ﬁm
Statement (I} ; “HEHRIID I Hae YsadidedRidd [d=H e, TR iieadarar
Al IR HIoaTd [gad- Sdd e,

Hi&E dyTer Ior gaig Faa.

1. faam oy snfor fasm () SR 3med
2. Taam 1y snfor fawm= () 9 g4

3. faeme () SR, O faum () 9% o
4. T34 (1) g, W A4 (1) SR 311
Options :

5362284157. 1

5362284158, 2

5362284159. 3
5362284160. 4

Question Number : 140 Question Id : 5362281066 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

g @M faur faere s

Statement (1) : T HadRgaw A0 Iifeaa=Er o9 g 4y fafgd e,

Statement (Il) : HAPRYIW AL $hdwd YealUfddRI<d fddd g, R GiieaH=Er

Hel g BIeiTid fadd 3Teld e,

¥ FHToT JTrdl Uiy Has.

1. fa&m= 1y anfor faym () SR1ET 2med
2. 138 (1) 3nfor faem () 9 ed

3. fauH () SRIER, 93g f9YH () I e
4. T34M (1) I, TR [ (1) SRR 3T
Options :

5362284157. 1



5362284158. 2
5362284159.3
5362284160. 4

Sub-Section Number : 2
Sub-Section Id : 53622841
Question Shuffling Allowed : Yes

Question Id : 5362281067 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
:No

Question Numbers : (141 to 145)

Question Label : Comprehension

I - GaId Sararasia U=t 398 AT (T4 HHI 91 d 95)

wWidlg gl WX W Ud dode Hle. I1 dodaidl & g 38 df d1 YHeoHaRd  IaeHLad Qhd oA
SRV Edierl o< 2l gid @g gl Sivfld &&d qUl. 3Hdal aul, ot anfor femsgrar  amuiia faud
THORGAd MYl Ieiedl didbiHl 39 XY gid 3T Ardiel S0 T4d. 8 quicqdey], diicgawyl fdd
fCRTHETER ST YA § H1Ud YTdkH g AUl o ibRe- a1 GHME 319e g8 ®IH 01 $E
YT SR 3Te © ied Y= SU QN a1 SHId 3Tl HE 9! F1 A Ficl dTd 3 Jidedia]
YU Bid 3 & WY TRed &3d. fETHGIaR 1eiRd MYl 9681 33aedl Wil [daR SRdET a1 Y
G3UH Wd:dhe dadcdl TRy Bael U3 il SRugrard Sl hid bl 3H1g AT ol del digH
forea STUaT= Se fAEIRY, A1 BUE far Wad! sied fead ¢U g1 Wiadl Iodsihl T 8 e
3 Ul gibd gl

Sub questions

Question Number : 141 Question Id : 5362281068 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



At 9@ de B0 H1a?

1. 5ugl a3y

2. IUIHETR TBR

3. ST Seury T A
4, T HIAIdSh R

Options :

5362284161. 1
5362284162. 2
5362284163. 3
5362284164. 4

Question Number : 142 Question Id : 5362281069 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

JHSTIARId HGH SRS dlidd glal?

1. Tepladuds

2. yTiugifasdt uq

3, Fdarig

4, ot
Options :
5362284165. 1
5362284166. 2
5362284167. 3
5362284168. 4

Question Number : 143 Question Id : 5362281070 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



U TP s UIEvaE T efP eI Ha el SIS R 3Edl?

1. fadPard
2, URdIa]

3. gfgarl
4. Yg&dral

Options :

5362284169. 1
5362284170. 2
5362284171.3
5362284172. 4

Question Number : 144 Question Id : 5362281071 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

JSHUdD QUSRI Fleiid-Ta? HIvdl TR gidi?

1. Tl SATEHH el

2. TASRTUAT SHTda

3. ST wvig

4, TSIqUITEAT Hiaa! [

Options :

5362284173. 1
5362284174.2
5362284175. 3
5362284176. 4

Question Number : 145 Question Id : 5362281072 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



A a1 ART@ HH 31T a 1 g5a?

1. G50 GO gigTd sied
2. W wammE! A gRa
3. ol daf faedrdie
4, TORYAT Hed@ dled

Options :

5362284177. 1
5362284178. 2
5362284179.3
5362284180. 4

Question Id : 5362281067 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (141 to 145)

Question Label : Comprehension

I - QAT Sararasia U=t I AT (TH HHI 91 T 95)

wWidlg Bl WX W Ud dode Hlg. I dadaidl & g 38 df J1 YHeoaa®d  IaeHLad Qihd BoH
SHRTOTT eital fosd 290 gid e gl Svfid & Ul eHdal qul, a1 Sior fiyerar  smsnfid faus
THORGAd YAl el dibiHl 3Yd Y0 gid 3T Ardiel AUid 9. 8 duicqdey], diicgaeyl fdd
feRTHEIER UTd GHSIaRIT § 3H1Ud YidaH e AU d WierRe a1 GHEdIE 319e g0 ®IF 01 $EH
YT WA ATe © ied Y= U N 91 SHId Ul HE ded! F1 D el dTd 3= Udedia]
YU Bid 3Me & UHTUl TRud 3. fEMHaaR H1uid 29l 96t 63dedl Wil [daR &dHET 91 YHreid
JIUH Wa:de dadcdl TRyl Bhal U3 il SRUgrard Wl hid bl g TTg fddl del digH
forea STUaT= Sen fAEIRY, AIUE ®BUE faar Wad! siew fiead 3U g1 Wiadl 9odsihl T 8 e
3 Ul gidd gl

Sub questions

Question Number : 141 Question Id : 5362281068 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0
WiaIc! dede ol HIa?

Options :

5362284161. 1
5362284162. 2
5362284163. 3
5362284164. 4

Question Number : 142 Question Id : 5362281069 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

qHETA I d GH@Hd SRS d1ed gldl?

1. TR iadqd

2. TRTudiayd uq

3, Fa4IUig

4, guivie
Options :
5362284165. 1
5362284166. 2
5362284167. 3
5362284168. 4

Question Number : 143 Question Id : 5362281070 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



U TP s UIEvaE T efP eI Ha el SIS R 3Edl?

1. fadPard
2, URdIa]

3. gfgarl
4. Yg&dral

Options :

5362284169. 1
5362284170. 2
5362284171.3
5362284172. 4

Question Number : 144 Question Id : 5362281071 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

JSHUdD QUSRI Fleiid-Ta? HIvdl TR gidi?

1. Tl SATEHH el

2. TASRTUAT SHTda

3. ST wvig

4, TSIqUITEAT Hiaa! [

Options :

5362284173. 1
5362284174.2
5362284175. 3
5362284176. 4

Question Number : 145 Question Id : 5362281072 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



A a1 ART@ HH 31T a 1 g5a?

1. G50 GO gigTd sied
2. W wammE! A gRa
3. ol daf faedrdie
4, TORYAT Hed@ dled

Options :

5362284177. 1
5362284178. 2
5362284179.3
5362284180. 4

Sub-Section Number : 3
Sub-Section Id : 53622842
Question Shuffling Allowed : Yes

Question Id : 5362281073 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (146 to 150)

Question Label : Comprehension

AT - Yeldl Sararasia uyist 3w el (W FHi® 96 d 100)

e HRATdId el d¥ YQUT SHTTdTe THTSToda®T B TeUOd odawl 318, (Plel Hudle avlesd) O1 saaed
TR Add o TEUTd. des Irel = racedr Meldr fdaR &e- 31 GHeMe! HaaEd aur ddl
T, ATd Ol Wddbe sadHl YA JeldbRU, SHYBR AU THU GHGHRUTE! TR 93 Wd-l g
ST Wia T ST fae o JeRauren Siac, @R IR fHdiad fod g #1g 8 @ 89 e, faa
G WM ¢dFE fod der faurd, siuedn qural Rerard, Trdn 921 dreardn il &rd odd JiuTerd o
HUET foreATm g deil Tell. & Jacdld fddl dUsad, GRG0 g e o) A UH el &% o, al
THenawd el Bad Wi THR el o dhde IUHNTE A Feildia-rd e §9dd Th 3UHIT %]
QU] Hiadidl 9% BUH faade uifed T1d. IRIRS onfr aHfidetedr Udd N Tedl 1 Wi

Ha&RTE YT AThRa e,




Sub questions

Question Number : 146 Question Id : 5362281074 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

AT [eugdid sOaeiHe HIvd dd SHTed ez

1. FGHGHET HIEA

2. qUIYET Bl
3. W-ISYgHGHE
4, GeITh Rl

Options :

5362284181. 1
5362284182.2
5362284183. 3
5362284184. 4

Question Number : 147 Question Id : 5362281075 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

OISO HRUGHER] Goyaiidl YHdT HIowd sl

1. T WEREgHEH fGaR &0
2. AU Baua YR Sidd &2l

3. W 394 B0

4. Tiawien =g fregd g

Options :

5362284185. 1
5362284186. 2
5362284187. 3
5362284188. 4

Question Number : 148 Question Id : 5362281076 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0
T ST TR Jai6T pHie! Sidisdr el a< SR

1. Tl WRId WY Qg ared
2. TR IR THdld faer TR fHer
3. GouaiTH faaeidl Sereurd! YHen SRa feaft
4, T R GEa&] faRT UTe e
Options :
5362284189. 1
5362284190. 2
5362284191. 3
5362284192 4

Question Number : 149 Question Id : 5362281077 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Tl JEH &3 dald GRIGINH &1 d=ITdl UiRTd gidi?

1. o0 3GR TPdH

2. TiH Dl aRgg!

3. T helall AT SUET

4. TSN WS Uevdrdl YHAENG] 2RI

Options :

5362284193. 1
5362284194. 2
5362284195. 3
5362284196. 4

Question Number : 150 Question Id : 5362281078 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



A Wil SUHNTE G Weildie-rd TeH sHq &1 [ d?

1. Tl IEH

2. Wi JEmiE

3. Wi GadiidLu]

4, Wi Sadi@n
Options :

5362284197. 1
5362284198. 2
5362284199. 3
5362284200. 4

Question Id : 5362281073 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (146 to 150)

Question Label : Comprehension

I - QRId Sararasia Ui 3w forel. (W HHi® 96 9 100)

thdes YRdIdierd el a’ Yol ST YHTedaw] el Jouddie daedl e, (Slel 3udlg died) 91 Aa’id
IRl dldd o TEuTd. des Jial =l fcedl Mpidl [daR &e- 31 GHeMe! Haadd aar ddl
Tcfl. Td Ul Wdde sadMHl YA TSIdRUl, HUBRU HIU ThU GHEHROE] SR 93 WAl S
" WM ¢dFd fad Yax faud, suer geurdl Raid, en 991 diedrdl il Ird $dd givresrd s
UM faardg deil Tcl. 1 9aodid fddl dYS, SR 10T I Iid R I U fdell 63 &, a1
T Rd fael Had Widd AIBR Al ai dhde JUHNTE HIl Jeildia-rd e g9dc U 3UHIT %]
U] Hiddbidl 9% V[ [dHde Ulied a0, ARG 101 AHfadGeted] Jdd YAl Taiedl a1 Wial
HERTET Webr=T AIpRe e,

Sub questions

Question Number : 146 Question Id : 5362281074 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0
GHSTSIGATd I euEe HaRiTd SI0d dw 9 3He?

1. SaHEr! HIEHT
2. U Hedl
3. W-IRUgHCGHE
4, TATHRO

Options :

5362284181. 1
5362284182.2
5362284183. 3
5362284184. 4

Question Number : 147 Question Id : 5362281075 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

GHISTHE HRUGTHR] Guaiid! YA®T dIowd sl

1. T WEREgHEH fGaR &0
2. MU Baga YR S &2l

3. WG 374 B

4. TlarTien =g fErea an

Options :

5362284185. 1
5362284186. 2
5362284187.3
5362284188. 4

Question Number : 148 Question Id : 5362281076 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



T 30T TR SeaT el Siaigan el aE SR - |

1. Tlld TRId G Ried aredd

2. TR IR fHdid faer TR e

3. T39I [oeaT@iNal SeRaATE! T g fGa
4, T BRI GEdE (a1 Ui e

Options :

5362284189. 1
5362284190. 2
5362284191. 3
5362284192. 4

Question Number : 149 Question Id : 5362281077 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Tl JEYH &3 haldd GRIGINH &1 STl UidTd gidi?

1. o0 3GR EFdhiH

2. Wi darel! derag!

3. T dalall waraaTd SUET

4. U Wi s Ul Yaddrg) 2ivmiH

Options :

5362284193. 1
5362284194. 2
5362284195.3
5362284196. 4

Question Number : 150 Question Id : 5362281078 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



A Wil SUHNTE G Weildie-rd TeH sHq &1 [ d?

1. Tl IEH
2. WId STl
. I Taaidmu
. W Gadi®

(]

o

Options :

5362284197. 1
5362284198. 2
5362284199. 3
5362284200. 4



